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ATATATAEET / General Instructions:

1) This question paper is divided into four sections. A, B, C and D. Each section is for 20 marks.
All questions are compulsory.

ii) Separate instructions and options are given with each section and question, wherever
necessary. Read these instructions very carefully and follow them.

iii) Do not attempt questions more than what is asked.

iv) Marks are mentioned for each question against it.

SECTION A- READING (20 marks)
Q1. Read the following passage. (10 marks)

The only continent on Earth without grasslands is Antarctica. Grasslands are areas of land that
are covered mostly in grass rather than bushes or trees. They cover about one-fourth of Earth’s
surface. Temperate grasslands include the prairies of North America, the Pampas of South
America, and the steppes of Eurasia. These grasslands grow at about 30 degrees north and south
of the equator. Tropical grasslands, called savannas, lie closer to the equator where temperatures
are warmer. Like animals, grasslands can become endangered. Threats to the grasslands include
overgrazing by animals, clearing the land for building, and overusing fertilizer on crops. A wide
range of animals live on grasslands. On the American prairies, squirrels and prairie dogs dig
burrows to escape the heat of the day. These underground homes provide protection from
predators such as coyotes and bobcats. In South America, the rhea—the continent’s largest
bird—stands nearly four feet tall. Pumas and jaguars prey on guanacos, a relative of the llama.

On the Eurasian steppes, the tiny jerboa scurries in a zigzag pattern to avoid becoming a meal for
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a coyote or lynx. Anteaters dig their noses deep into anthills. Armadillos dine on small frogs,
lizards and rodents. In the tropical sub-Saharan savanna, elephants, cheetahs, zebras, and lions
compete for limited water. Over two-thirds of the world’s marsupials, or pouch animals, live on
the Australian savanna. Grasslands do best in a climate with lots of sunshine and some rainfall.
Precipitation can change from one year to the next. Where rainfall is plentiful, grasses grow 3
feet (1 m) high. An area with less rain will have shorter grasses. Willow and cottonwood trees
grow near streams where underground water is plentiful. Bright flowering plants such as orange
butterfly weed, purple lupines, and pink coneflowers bloom from early spring through the
middle of autumn. Billions of acres of the world’s grasslands have become grazing lands for
cattle, sheep, horses, and other domestic animals. Biologists work with ranchers to manage plant
and animal habitats and prevent soil destruction. Together, cowboys and scientists can work to

preserve the grasslands.
1.1 Based on the reading of the above passage, answer the following questions. (6 x1= 6M)
1. Temperate grasslands grow at about north and south of the equator.

a) 20 degrees  b) 30 degrees c) 35 degrees d) 40 degrees

2. Which of the following are threats to the world’s grasslands?

a) overgrazing by animals b) clearing the land for building
c) overusing fertilizer on crops d) all of the above.
3. dig their noses deep into anthills.

a) Anteaters b) Small frogs c) Lizard  d) Rodents

4. Grass lands cover about of Earth’s surface.

a) one-fourth  b) one-third  c) one-fifth  d) one-sixth
5. When rainfall is plentiful grasses grow up to high.
a) 2 feet b) 3 feet c) 3.5 feet d) 4 feet

6. Name the only continent on the earth without grassland

a) South America b) North America c¢) Antarctica d) Australia



1.2 Answer the following questions. (2x2=4)
1. What is known as grassland? Name any two temperate grasslands.
2. Why do prairie dogs dig burrows?

Q2. Read the following passage. (10 marks)

The tailorbird is one of the most skilled nest builders in the world. Its beak is thin and long like a
needle, and the bird uses this tool to stitch two leaves together in order to create a pouch for its
eggs. The tailorbird uses spider’s silk as thread.

Termites build towers that may be up to six metres wide. Ten tons of mud collected
bit by bit by millions of these insects is made into a mud castle. This castle is guarded by soldier
termites. Beavers build their home with wood and mud in lakes and rivers. They cut down trees
into pieces by gnawing at the trunks. They drag these pieces into the water and build a dam in
order to make a deep pool. They make underwater entrances using sticks and mud. The desert-
dwelling elf owl makes its nest inside a cactus. It prefers its cool home to heat of the day. The
water spider builds its home under the water. First, it makes a flat web of silk and fixes this to a
water weed. Then it catches bubbles of air and carries down to the web. The web looks like a
dome when it’s full of air. The female lays eggs in its waterproof silky tent. How wonderful to
see these great architectures!
2.1 Based on the reading of the above passage, answer the following questions. (6 x1= 6M)

1. Which bird is one of the most skilled birds in the world?

a) Beavers Db) cuckoo c) tailorbird d) owl

2. Beavers build their home with

a) wood and mud b) spider’s silk  c¢) sticks d) leaves
3. Which insect build its home under water?
a) termites b) Beavers c) water spider d) spider
4. Find a word in the passage which means the same as “extremely dry area of land with sparse
vegetation”
a) grassland  b) farming land ¢) mud castle d) desert
5. Find the opposite of “Exit” from the passage
a) arrival b) enter c) entrance d) leave
6. The desert- dwelling elf owl makes its nest inside a

a) wood b) waterproof tent c) leaf  d) cactus



2.2. Answer the following questions. (2x2=4)
1. How do tailorbirds build its nest?
2. How do termites build its towers?

SECTION B - WRITING (20 marks)

Q3. Rakesh had the following conversation with Mohit, a friend of his elder brother

Rahul. As Rakesh had to leave for his coaching classes, he left this message for Rahul.
Write the message in about 50 words. (5 Marks)
Mohit : Hello! Can I speak to Rahul, please?
Rakesh :  He is not at home . I’m his brother Rakesh. May I know who is speaking?
Mohit : I am his friend Mohit.
Rakesh :  Oh! Sorry. In fact, Rahul isn’t at home. He will be back in an hour. Can I do
anything for you?
Mohit : Oh. Sure. In fact, | have a message for Rahul. Could you please tell him?
Rakesh :  Sure, with pleasure. Tell me, please.
Mohit:  Today we have planned to go to public library in the evening. Please inform
him to come at 4pm to the library.

Rakesh :  OK, I’'ll inform him as he comes back.

Q4. Your aunty has sent a beautiful birthday gift from London. Write a letter to your aunty
thanking her for the birthday present she sent you. (7 marks)
OR
Write a letter to your friend describing him/ her about your plan for Summer Vacation.

Q5. Write a meaningful story using the following outline about 100 to 150 words. Give a

suitable title and moral to the story. (8 marks)
A dog........... very hungry.......... in search of food........... reaches a shop........
steals a piece of meat........... goes to a river............ reflection.......... barks.......... piece of



5

SECTION C - GRAMMAR (20 MARKYS)

Q6. In the following passage each line has an error. Edit the passage by identifying the

wrong word in each sentence, then write the incorrect and the correct word in your answer

sheet as shown in the first example of the passage. (8x1/2 = 4M)
Incorrect correct
Example: Language is a wonderful gift give to men. give given

i) Animals does not possess this gift but they have -

il) there own ways of expressing themselves. -
iii) When a rabbit see an enemy it runs away -
iv) into its hole. Its tail, which was white, -
V) bobs up and down as it runs. An other rabbits -
vi) see it and they runs too. -
vii) They know that there was a danger. -

viii) Some animals said things by making sounds. -

Q7. Complete each sentence given below by choosing the right word from the bracket.

i) Tyres are made of ................... (leather/rubber/ plastic) (5%x1=5M)
ii) Utensilsare made of ................ (rubber /paper/ steel)

111) Mugs are made of ...................... (clay /plastic/ paper)

iv) Blankets are made of ................ (wool /cotton/ rayon)

v) Books are made of ............... (paper /cloth/ nylon)

Q8. Fillin the blanks with suitable articles. (a/an/the) (3x1=3M)
[) PP old man wanted to see you in the morning.

i1) John built ......yard for his cattle.
iii) My grandmother told me...... story.

Q9. Rearrange the following phrases to form meaningful sentences. (4x1=4M)

i) plays / guitar / he / the
ii) are machines/to think/robots/that use/a computer brain
iii) the garbage / dispose / properly

iv) cooks / my mom /delicious food
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Q10. Use the phrases given in the box to fill in the blanks in the sentences given below.

| setup set aside set down set out setin | (4x1=4M)
i)Why don’t you your ideas on paper?
i) A fund has been for the soldiers’ families.
i) We should a little money every month.

Iv) You should buy some woollens before winter

SECTION D - LITERATURE (20 MARKYS)
Q11. Read the following extract below and answer the questions that follow. (3x1=3M)
A) “And do they pick their noses

the same as you and me

Do they live with other people
Have they mums and dads?
And were they ever children

and were they ever bad? “

1. ‘They’ in the stanza refers to

(a) teachers  (b) students (c) parents (d) villagers

2. The speaker finds it difficult to believe that the teachers are

(a) great people (b) ordinary people (c) very learned (d) rich
3. The name of the poet is

(a) Peter Dixon (b) L.M. Haul (c) Harry Behn (d) E-Yeh-Shure

OR

B) “When at four in the afternoon
I come back from the school,
| can see through the gate of that house

the gardener digging the ground.

He does what he likes with his spade,
he soils his clothes with dust,
nobody takes him to task,



if he gets baked in the sun or gets wet.
I wish | were a gardener digging away at the

garden with nobody to stop me from digging.”

1. Name the poem and the poet of the above lines.
2. Whom does the poet see at four in the afternoon?
3. Where does the poet see the gardener?

Q12. Answer any three of the following questions in about 30-40 words. (3x2=6M)

1. Why did Dolma want to become the Prime Minister of India?
2. “God lives in the heart of the Panch”, the aunt said. What did she mean?
3. Who were the other two spectators of the fight? What did they do?

4. When Jumman’s aunt realized that she was not welcome in his house, what arrangement did

she suggest?

5. What happened to the crow in the end? What did the myna do finally?
Q13. Answer any three of the following questions in about 30-40 words. (3x2=6M)
1. Why was the crocodile unwilling to invite his friend home?
2. What happens to our body when we sleep?
3. What did the specialist prescribe in addition to medicine?
4. Why are dreams important? Mention two reasons.
Q14. Answer any one the following questions in about 80-100 words. (1x5=5M)

1. Why was Algu upset over Jumman’s nomination as head Panch? What was Jumman’s
verdict as head Panch? How did Algu take it?

2. The trust and faith is the foundation stone of friendship’. Justify the statement with reference
to the story ‘The monkey and the crocodile’.

3. Describe the garden where the author used to spend his afternoon. (The Banyan tree)
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General Instructions:-

1. This question paper consists of four sections A, B, C and D.
Section- A Reading - 20 Marks
Section -B Writing - 20 Marks
Section -C Grammar - 20 Marks
Section -D Literature - 20 Marks
2. Read all the questions carefully and attempt all the questions.
3. Numbers to the right indicate the marks.
4. All the questions of that particular section should be in the correct order.
5. Do not write anything in the question paper.

SECTION-A: READING (20 MARKS)

Q.1. Read the passage given below carefully and answer the questions that follow them. (10 Marks)

Achoo! by Cynthia Sherwood

1. Achoo! We all sneeze sometimes. Sneezing is a reflex that your body does automatically. That means

you cannot make yourself sneeze or stop one once it has started. When you sneeze, your body is trying
to get rid of bad things in your nose, such as bacteria. You have extra germs when you have a cold, so
you sneeze a lot more. You might also sneeze when you smell pepper!

. Inside your nose, there are hundreds of tiny hairs. These hair filter the air you breathe.
Sometimes dust and pollen find their way through these hairs and bother your nasal passages. The nerves
in the lining of your nose tell your brain that something is invading your body.

. Your brain, lungs, nose, mouth, and the muscles of your upper body work together to blow away the
invaders with a sneeze. When you sneeze, germs from your nose get blown into the air. Using a tissue or
“sneezing into your sleeve” captures most of these germs. It is very important to wash your hands after
you sneeze into them, especially during cold and flu season.

. Do you ever sneeze when you walk into bright sunlight? Some people say that happens to them often.
Scientists believe the UV rays of the sun irritate the nose lining of these people so they sneeze. If
someone nearby sneezes, remember to tell them “Gesundheit!” That is a funny-looking word which is
pronounced “gezz-oont-hite.” It is the German word that wishes someone good health after sneezing.

. On the basis of your reading answer the following questions by choosing the correct option.
(1x6=6 Marks)

i) Which parts of your body work together when you sneeze?

a) nose and mouth b) lungs and nose
¢) brain, lungs, nose, mouth and the muscles d) nose and brain.
i) What does the German word Gesundheit mean?
a) | wish you good health. b) I wish you God's blessings.
¢) I wish you a good day. d) I wish you would stop sneezing.

iii) Why do people sneeze when they walk into bright sunlight?
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a) natural b) due to sunlight

c) irritation of the nose d) UV rays irritate nose
iv) After a sneeze into your hands .................

a) hold them tightly b) rub them off

¢) wash them neatly d) never wash

V) What does the opposite of “lower” according to the passage?

a) high b) higher
c) taller d) upper
vi) Which is the synonym of the word —filter.
a) purify b) smoke C) pass d) remove

B. On the basis of your reading of the passage ,answer any two of the following questions in about 30-
40 words each. (2x2=4 Marks)

i)What is sneezing?
i)What is the role of the tiny hairs inside our nose?
iii)What hapens when you sneeze?

Q.2. Read the passage given below carefully and answer the questions that follow them: .(10Marks)
The kingdom of Nepal is situated in the lap of the Himalayas.Nepal and India enjoy excellent bilateral
ties.Founded on the age old connection of history,culturetradition and religion,these relations are
close,comprehensive and multi dimensional.India’s relationship with Nepal is based on mutual respect.
Many students from Nepal come to India for higher studies. Nepal shares a common border with India on
three sides. The Indo-Nepal border is open. Nepalese and Indian nationals may move freely across the
border without passports or visas and may live and work in either country.

However Indians are not allowed to own land properties or work in government institutions in Nepal, while
Nepalese nationals in India are allowed to work in Indian government institutions.

In the year 2014 India and Nepal decided to revise and adjust the treaty signed between the two countries in
1950.Nepal’s main import from India are petroleum products, motorvehicles, spareparts, medicines and
some chemicals.

Nepal is an important neighbour of India. Many Hindus and Buddhist religious sites are in Nepal making it
an important pilgrim site for large number of Indians.

A .Answer the following questions by choosing the correct option. (1x6=6 Marks)

i) Where is the kingdom of Nepal situated?

a) In the lap of Alps b) In the lap of Himalayas

c) In the lap of Andes d) In the lap of Alaska
i) When was the treaty between the two countries signed?

a) In 1560 b) In 1950 c) In 1923 d) In 2014
iii) When was the treaty considered to revise?

a) In 2014 b) In 1956 c) In 1950 d) In 2013
iv) Name the two religions practiced in both India and Nepal.

a) Hinduism and Islam b) Hinduism and Christian

¢) Sikh and Hinduism d) Hinduism and Buddhist
v) Name the two main important imports from India to Nepal.

a) Medicines and chemicals b) sugar and salt

¢) chemicals and cotton d) cotton and medicines

vi) Write one word from the passage for the following-
A permit to enter or leave a country.
a) passport b) border C) properties d) visa
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B. On the basis of your reading of the passage, answer any two of the following questions in about 30-
40 words each. (2x2=4 Marks)
1) What are the factors responsible for good relations between Nepal and India?
i) How are the rights of working in India different from the rights in Nepal?
iii) What is making Nepal an important pilgrim site for large number of Indians?

SECTION-B: WRITING (20 MARKS)

Q.3You are Acharya/Alisha. Your mother and father left for the city. You got a call from your friend to join

a game of badminton by four o*clock in the school. Write a message in 50 words to your mother mentioning

about it in details. (time, place, when to go and return home) (1x5=5Marks)
OR

Koyal called Mrs Grover, a furniture shop owner. Since she was not available, her assistant, Vidhi answered.

The following is a conversation between Koyal and Vidhi. As Vidhi was going out immediately afterwards,

she left a message for Mrs Grover. Read the conversation and write a message. Put your message in a box.

Koyal: Hello, is that Grand Furniture?

Vidhi: Yes.

Koyal: Could I speak to Mrs Grover?

Vidhi: I am afraid she’s not here at the moment.

Koyal: When will she be back?

Vidhi: Not before six in the evening. Can | take a message for her?

Koyal: Yes. Could you tell her that she has to deliver the furniture ordered by me, for my new house
only on the 20th August and not on 14th August. Ask her to keep it ready by 9:00 am on the 20th
of August. I will be sending a pick up van and so she does not have to arrange for the same.

Vidhi: Ok, I will inform her.

Koyal: Thank you.

Q.4.You had visited your grandparent’s village during the last summer vacation. Write a letter to your friend
Varun, on your experience you had on village life in not more than 120 words. (1x7=Marks)
OR
Write a paragraph in about 100-150 words on the topic My family

Q.5. Develop the following outline into a story. Give the story a heading and a suitable moral in
(120 - 150 words). (1x8=8 Marks)

A farmer —two lazy sons---farmer on death bed---told sons---treasure hidden ----in farm----
Sons dug the farm—found nothing----but —yields and production increased.
OR
Given below is the outline of a story, develop an interesting story based on the outline.
Give the story a heading and a suitable moral in (100—150 words)

A shepherd boy .................. looked after a flock of sheep cried wolf? For fun............ neighbours
gathered in a large numberno ................ wolf the boy laughed at them........... one day wolf really came
.......... the boy cried for help................ neighbours did not believe him........... the wolf killed the boy and

his sheep. Moral
SECTION-B: GRAMMAR (20 MARKYS)

Q.6. The following passage has not been edited. There is an error in each line. Write the incorrect word and

the correction in your answer sheet. The first one has been done as an example. (12 x 8 = 4 Marks)
Incorrect Correct

I still remember the day when | get my first bicycle. get got

I got it when | am seven years old. It was pink (@)

at colour. There was a beautiful picture of a flower (b)

on my cycle seat. Every day morning me would ride (©)
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my cycle. | loved to rang the bell whenever | saw (d)

people coming near my cycle. My cycle had an basket (e)
in a front. I always keep my teddy bear in the basket. ()]
I often went for ride cycle in the evening. It was really (9)
a most beautiful gift of my childhood. (h)
Q. 7 Fill in the blanks with correct options. (1x8=8 Marks)
i.A person who makes up notes to create music is known as-
a) Disc jockey b) Composer
c¢) Computer Programmer d) Architect
Ii. What do you think the phrase — Leave their greens’mean-
a) left the vegetables especially the green vegetables b)left the playground
c) left the green grass d)none of the above
iii. Rahul is as as Kusum.
a) taler b) tallest c)tall d)The tallest
iv. Grandfater at sixty five no longer climb the banyan tree.
a) can b) could c) would d) couldn’t
v. King Solomon was a wise king. In this sentence the word is an adjective
a) king b) was c) Solomon d) wise
vi. At the moment,My grandmother is recovering her illness.
a) to b) with c) from d) of
vii. | saw a of wolves near the forest.
a) herd b) school C) swarm d)pack
viii. The boy practised his speech regularly. In this sentence the word is an adverb.
a) boy b) regularly c) speech d) practised
Q.8. The words in the following sentences have been jumbled. Arrange them so as to get meaningful
sentences.

(1 x4 =4 Marks)
E.g. the / there / numberless / are / sky / stars / in
There are numberless stars in the sky.

i) future/let/better/us/hope/for/a

(i1) in winter / from north / birds / to south / migrate

(iii) thanks / forget / to / say / don’t

(iv) trees/ shelter/ In the/ to /different/ give/ forests/ and /food/ animals

Q.9 Complete the dialogue between Chintu and Sonu in a suitable way. One has been done for you.
(1x4=4 Marks)

Sonu : Hello Chintu. Where are you coming from ?

Chintu : (i) Lam coming from a Hospital.My grandmother is admitted there.

Sonu : Oh. What happened ? (il) ........cooeiiinin.n. now ?

Chintu : She is feeling better now. Actually she slipped in the bathroom and (iii) ............
Sonu : (V) oo say?

Chintu: The doctor has plastered the arm and has advised her rest for a month.

Sonu : How long (V) ...coooviniiiiiini, hospital ?

Chintu: Four days. She’ll be discharged on Monday.

SECTION-B:LITERATURE (20 MARKYS)
Q.10.Read the following extract and answer the questions that follow. (1x3=Marks)
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Did they ever, never spell right
Did they ever make mistakes?
Were they punished in the comer
If they pinched the chocolate flakes?
Did they ever lose their hymn books
Did they ever leave their greens?
Did they scrabble on the desk tops
i. Name the poem and the poet.
(a) Vocation, Rabindranath tagor (b) The wonderful words,Mary O’ Neil
(c) Where Do All the Teachers Go?, Peter Dixon (d) The kite,Harry Behn
ii. The speaker is talking of the things for which the children are often

(@) praised (b) punished (c) awarded (d) advised
iii. The passage shows that the students have a habit of writing on
(a) paper (b) books (c) walls (d) desks
OR

When the gong sounds ten in the morning and
| walk to school by our lane,
Every day | meet the hawker crying, “Bangles,
crystal bangles !”
There is nothing to hurry him on, there is no
road he must take, no place he must go to, no
time when he must come home.
| wish | were a hawker, spending my day in
the road, crying, “Bangles, crystal bangles!”

i. When does the gong rings-

(a) at seven (b) at five
(c) at ten (d) at four

ii. The hawker is selling the-
(a) the crystal (b) the bells
(c) the toys (d) the crystal bangles

iii. The speaker seems to love-
(@) his school (b) the bangles
(c) the hawker (d) the freedom

Q.11. Answer any of the three of the following questions in 30-40 words each. (2x3=6 Marks)

1. Peter’s favourite day of the week was Sunday. Why? (Who | am)
2. Algu found himself in a tight spot. What was his problem? (Fair Play)
3. When the boy started to bring pieces of cake and biscuit for the squirrel, what was the reaction of
the squirrel? (The Banyan Tree)
4. Do you think words are the food and dress of thought? Give a reason to support your answer.
(The Wonderful Words)

Q. 12 Answer any of the three of the following questions in 30-40 words each. (2x3=6 Marks)
1. Why was the crocodile unwilling to invite his friend home? (The monkey and the crocodile
2. Why has sleep been called a wonder? (The wonder called sleep)
3. Why were the sunrays keen to go down to the earth the next day? (The pact with the sun)
4. What did the specialist prescribe in addition to medicine? ( A pact with the sun)

Q.13Answer any one of the following questions in 80-100 words each. (1x5=5 Marks)

1. What is the significance of the banyan tree in the story-‘The Banyan Tree’ by Ruskin Bond’?

2. The monkey decided to discontinue his friendship with the crocodile. Do you think he is justified in this
action?
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arATT fader / General Instructions:
1.This paper consists of FOUR sections:

Section A Reading 20 Marks
Section B Writing 20 Marks
Section C Grammar 20 Marks
Section D Literature 20 Marks

2. Attempt all questions.

3. Do not write anything on the question paper.

4. All the questions must be answered in their respective section only.

6. Strictly adhere to the word limit given with each question.

7. Marks are indicated against each question.

8. An additional 15 minutes time has been allotted to read this question paper only.

SECTION A ( READING) 20 marks
1.Read the passage given below and answer the questions that follow: 10 M

Monty bought a little red monkey. He named it, Jojo. He bought it from a street juggler for five
rupees. The monkey was tied to a place where it didn’t belong, so Monty decided to bring him
to his private zoo. Jojo was a pretty monkey with mischievous eyes and a bright smile. His
hands looked old like they had been in the sun for a long time, but they were quick and tricky.
His tail not only made him look good but also helped him hang from branches and grab food
that was far away.
Monty always got worried when he brought home a new bird or animal because his mother did
not like that. So, he decided to keep Jojo a secret from her until she was feeling really happy.
Monty hid Jojo in a small closet in his room’s wall. he tied him up to a hook on the wall, or at
least he thought it was secure.
1.1 Based on the passage above, choose the right options from the ones given below:

6 x1M)=6 M

a) Why did Monty decide to keep Jojo a secret from his mother?
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1. Because his mother loved animals
i1. Because his mother didn’t like animals
iii. Because Jojo didn’t like Monty’s mother
iv. Because Monty wanted to give surprise to his mother.
b) What was special about Jojo’s tail?
1. It was long and colourful
ii. It helped him hang from branches and grab food
iii. It was fluffy and soft
1v. it was short
c) What does the word “naughty” mean in the story?
i. Shy
ii. Reserved
iii. Mischievous
iv. Disciplined
d) What does the word “safe and well-protected” mean in the story?
i. In danger
i1. Secure
iii. Risky
iv. Unstable
e) Where did Monty buy the little red monkey, Jojo?
1. From a pet store
ii. From a zoo
i1i. From a street juggler
iv. From a friend
f) Why did Monty decide to bring Jojo to his private zoo?
1. Because Jojo was lonely
1. Because Jojo didn't belong where he was tied
1ii. Because Monty wanted a new pet
iv. Because Jojo was sick
1.2 Answer the following questions: 2X2(M)=4M
a) What did Monty buy from the street juggler, and how much did he pay for it?
b) What did Monty name the little red monkey and where did he hide the little red monkey in

his room?
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2.Read the passage given below and answer the questions that follow: 12 marks

1. Man suffers from a distorted complex. He always considers animals as inferior beings only
fit for exploitation. Man has been using domestic and wild animals for his selfish ends. Many

animal lovers joined together to form the 'Society for Prevention of Cruelty to Animals'.

2. The society has been working for the well-being and welfare of animals for many years. Its
main aim is to change the attitude and thinking of people towards animals. It is quite sad that
animals continue to be ill-treated, tortured and killed according to the whims of the people.
About 15% of the people entertain the belief that animals are man's slaves. They use, misuse

and torture them accordingly. About 50% of the people exploit animals for selfish ends.

3. Horses and oxen are used for transport, carrying loads and in agricultural activities. Dogs,
cats and many birds are domesticated for fun, entertainment and convenience. Wild animals
like elephants, tigers, lions and deer are victims of poaching and killing. Animals are forced
to do acrobatic feats in circus shows. Unfortunately, about 35% of people don't think about

the animals at all. They are totally indifferent to them.

4. The Government and the animal lovers must work together to bring a change in the attitude
of the people. Animals should not be killed and poached for fun, furs or financial gains. They
should be treated with kindness, care and sympathy. Cruelty towards animals must be legally
Punished.

2.1 Based on the passage above, choose the right options from the ones given below:
4x 1(M)=4M

a) What is the main aim of the 'Society for Prevention of Cruelty to Animals'?

1. Exploitation of animals

ii. Torturing animals for fun

iii. Changing people's attitude towards animals

iv. Promoting animal slavery
b) According to the passage, what percentage of people entertain the belief that animals are
man's slaves?

1. 15%

11.35%
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1ii. 50%
v. 65%
c) Which animals are mentioned as victims of poaching and killing in the passage?
i. Dogs and cats
ii. Elephants and tigers
ii1i. Horses and oxen
iv. Birds and lions
d) What does the passage suggest regarding the treatment of animals in circus shows?
1. Animals should be treated with kindness and care
ii. Animals should not be used in circus shows
iii. Animals are forced to do acrobatic feats
iv. Circus shows promote animal well-being
2.2 Answer the following questions briefly in about 20 to 30 words each: 2X2(M)=4M
a) Why did animal lovers form the 'Society for Prevention of Cruelty to Animals'?

b) What is the main aim of the 'Society for Prevention of Cruelty to Animals'?

SECTION B (WRITING) 20

marks

3. You are Nyra/Ranbeer, a student of Class VI. You have lost your school library book in the
school field. Write a notice for the school notice board. Include details about the book and
contact information. (write about 40-50 words) Ix5(M)=5M

4 Write Paragraphs of about 100 words on any one of the given Topics:

1x7(M)=TM
1.Healthy Teeth
2.How to keep fit and fine
3.Value of Games

5.Write a readable story, with the help of the given outlines: (Write up to 120 words)

1x8(M)=8M

Page 4 of 7



SECTION C (GRAMMAR) 20 marks

6. The following passage has not been edited. There is one error in each line. Write the
incorrect word and the correct word as given in the example against the correct blank number
in your answer sheet. Do not copy the whole passage:

8x1/2(M)=4M

Error Correction
While learning before jumping e.g. before about
out at aeroplanes in (a)
an emergency, a son in law’s (b)
classmate asked a instructor ()
“We has only one parachute? (d)
where is a reserve?” “Son you are a pilot. (e)
you’re supposed for land the plane.” )
come the answer. “That means (g)
the parachute are your reserve.” (h)
7.Do as directed:
1x5(M)=5M

a) What is the antonym (a word opposite in meaning) for the word ‘blunt’, from the lesson
‘Fair Play’
b) Fill in the blank with the appropriate phrase:

Why don’t you your ideas on paper? (set down/set aside)
c) Replace the italicized portion of the sentence with a suitable phrase from the bracket.
The best way to avoid an unnecessary argument is to remain silent. (make it up/ keep
mum).

d) Fill in the blank with the appropriate form of word given in the bracket:

[ saw a cobra out of a clump of cactus. (gliding/darting)

e) Use the appropriate verbal form of the word from the bracket given.

India a number of problems these days.(face)
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8. Add suitable prefixes or suffixes for the following words. Use the clues given below:

1x3(M)=3M
Un m ly
(a) Happy
(b) Joyful
(c) Possible
9.Rearrange the words to make meaningful sentences: 1x4(M)=4M

a) had /Jumman/ some /property/ who/an/ had/ aunt/old
b) This /transferred/ him /to/on/ the/ understanding / she /that/would/she/ stay /with/ him
c) after/ would/ he /and /look /her

d) a/ couple /years /of /the /worked/for/arrangement/well

10. One of the agents is talking to a client looking for accommodation in a hotel. They
talk to each other. Complete the dialogue. Use the clues given below.  1x4(M)=4M
Agent: What sort of accommodation would you prefer?

Client: I'd prefer a

Agent: Would you like your own room or would you like to share a room?

Client: I'd like

Agent: Would you like a room with a television?

Client: I don't think I'd like

Agent: Do you need to hire a car?
Client: No, thanks, I don't need
SECTION D (LITERATURE) 20 marks

11.Read the extract from a poem given below and choose the right answer from the
options given:
3x1(M)=3M

Where do all the teachers go

When it’s four o’clock?

Do they live in houses

And do they wash their socks?

Do they wear pyjamas
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And do they watch TV?
And do they pick their noses

The same as you and me?

1) What does the phrase ‘pick their noses’ mean?
a) Clean their noses with handkerchief
b) Clean their noses with water
c¢) Hurt their noses with sharp nails
d) Clean their noses with the little finger
i1) The speaker finds it difficult to believe that his teachers are
a) great men
b) ordinary people
¢) learned
d) educated
ii1)’They’ in the passage refers to
a) students
b) teachers
C) parents
d) villagers
12. Answer the following questions briefly in 30 to 40 words: 3x2(M)=6M
a. Why do Dolma believes that she can make a good Prime Minister?
b. What did the cobra and the mongoose do, to show their readiness for the fight??
c. Who were the other two spectators mentioned in the lesson ‘The Banyan Tree’? What
did they do?
13. Answer the following questions briefly in 30 to 40 words:
3x2(M)=6M
a. Why was the crocodile unwilling to invite his friend home?
b. What did the specialist prescribe in addition to medicine?
c. What is the most obvious advantage of sleep?
14. Knowing Jumman’s behaviour with his aunt, How do you think that on should

behave with the elders? 5(M)
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General Instructions :

o wnNE

The Question paper consists of 4 sections.

Section A consists of 3 MCQs of 1 mark each.
Section B consists of 4 questions of 2 marks each.
Section C consists of 6 questions of 3 marks each.
Section D consists of 6 questions of 4 marks each.

Section— A (30 x Im =30 m)

: - 4 .
The fraction which is not equal to e

@ =g OF: © 50

@) —

. . . 5 .
The two consecutive integers between which the fraction - lies are

(@) 5and 6 (b) Oand 1 (c) 5and 7
IfF E= 2 , then the value of p is

6 18
(@ 9 (b) 4 (c) 8
Which of the following is a proper fraction ?

7 7 8
(a 3 (b) 13 ©3

_ . 3 .
A fraction equivalent to S i

3+2 3-2 3x2
@ 55 0) - © 3
Which of the following decimal is the smallest ?
(@) 0.27 (b) 15 (c) 0.082
16 .
4 Too 'S equal to
(@) 4.16 (b) 4.016 (c) 4.0016

3 km 7m is equal to

(d) 6and 7

(d) 3

(d) none of these

(d) none of these

(d) 0.103

(d) 0.416



9.

10.

11.

(@) 3.07 km (b) 3.007 km (c) 3.7km (d) 3.0007 km
15.8 - 6.73 is equal to

(@) 8.07 (b) 9.07 (c) 9.13 (d) 9.25
The decimal 0.238 is equal to the fraction

119 238 119 119
@ o0 ) o= © -5 @) =5
On a scale of 1 unit length = 10 crores, the bar of length 6 units will represent
............... crores.
(a) 6 crores (b) 60 crores (c) 0.6 crores (d) 1crore

12.Reena took two rounds of a ground 180 m long and 100 m wide. The total distance

13.

14.

15.

16.

17.

18.

19.

covered by her is
(@) 280 m (b) 650 m (c) 1120 m (d) 2240 m

Following figures are formed by joining six unit squares. Which figure has the
smallest perimeter?

I
L

G (#) (1id) ()
(a) (ii) (b) (iii) (c) (iv) (d) (i)
The perimeter of a triangle of sides 12 cm, 8 cm and 7 cm is
(@) 27 cm (b) 54 cm (c) 81cm (d) 108 cm

The side of a square is 10 cm. How many times will the new perimeter become if the
side of the square is doubled ?

(a) 2 times (b) 4 times (c) 6times (d) 8times

If x takes the value 2, then the value of x + 10 is
(@ 20 (b) 12 (c) 5 (d) 8

Kanta has p pencils in her box. She puts g more pencils in the box. The total
umber of pencils with her is

@ p+q () g ©p-q @7
If the perimeter of a regular hexagon is x metres, then the length of each of its sides
IS

(@) (x +6) metres (b) (x+6) metres

(¢) (x—6) metres (d) (6 +x) metres

The rule which gives the number of match sticks required to make a pattern of

letter Z is



20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

(@) 2n (b) 3n () 4n (d) 5n

If a bus travels 160 km in 4 hrs & a train travels 320 km in 5 hrs at uniform speeds,

then the ratio of the distances travelled by them in one hour is

(@ 5:8 (b) 5:2 (c) 4:5 (d) 5:4

The ratio 92 : 115 in its simplest form is

(@) 23:25 (b) 198 : 23 (c) 3:5 (d) 4:5

If 57 : x =51 : 85, then the value of x is

(@) 95 (b) 76 (c) 114 (d) none of these

A picture is 60 cm wide and 1.8 m long. The ratio of its width to its perimeter in

lowest form is

@1:2 (b) 1:3 (c)1:4 (d) 1:8

Neelam’s annual income is Rs. 2,88,000. Her annual savings amounts to Rs. 36,000.

The ratio of her savings to her expenditure is
(@ 1:8 (b) 1:7 (c)1:6 (d)1:5
The weight of 30 students (in kg) of a class is given below :

42,48, 45, 45, 49, 54, 46, 43, 45, 58, 62, 44, 43, 45, 49

50, 41,51, 44, 48, 41, 49, 42, 44, 46, 48, 52, 43, 45, 42

On the basis of the above data answer the following questions.

The number of students who have 45 kg weight or more than this is

(@) 18 (b) 19 (c) 20 (d) 21
The number of students with more than 50 kg weight is

(@) 4 (b) 5 (c) 6 (d) 7

Which weight is recorded of maximum students ?

(a) 45 (b) 42 (c) 43 (d) 49

What is the least weight among the 30 students ?
(a) 40 (b) 41 (c) 42 (d) 43

Assertion A : Area of a square of side 4 cm is 16 cm?

Reason R : Area of a rectangle is always length x breadth

3



30.

31.

32.

33.

34.

35.

36.

37.

a) Both (A) & (R) area correct and (R) is the correct reason for (A)

b) Both (A) & (R) are correct but (R) is not the correct reason for (A)
c) (A)istrue but (R) is false

d) (A) is false but (R) is true.

Assertion (A) : 15, 45, 40, 120 are in proportion
Reason (R) Four quantities are said to be in proportion, if the ratio of first and the
second quantities is equal to the ratio of the third & the fourth quantities.

a) Both (A) & (R) area correct and (R) is the correct reason for (A)

b) Both (A) & (R) are correct but (R) is not the correct reason for (A)
c) (A)istrue but (R) is false

d) (A) is false but (R) is true.

SECTION-B (4x2m=8m)

When Balaram weighed himself on Monday, he found that he had gained
1Y4kg. Earlier his weight was 66% kg. What was his weight on Monday?

(i) What should be added to 25.5 cm to get 50 cm?
(i) What should be subtracted from 32 km to get 15 km 235 m?

A dice was thrown 30 times and the following outcomes were noted :
4,3,3,2,5,4,4,6,1,2,2,3,4,6,2,3,4,1,2,3,3,4,5,6,3,2,1,3,4,3

Which number comes maximum number of times ?

Find the cost of fencing a square park of side 250 m at the rate of Rs. 20 per metre.

SECTION-C (3mx6=18 m)

. . a1 2 .\ 3 4 I T
Simplify (i) 12+ 25 () oo~ 1 (iii) -+ 2
Srinivas’s house is 2km 35m away from his school. If he walks to school and back

home everyday, what is the distance covered in 6 days ?

Following are the choices of games of 40 students of Class VI :

Football, cricket, football, kho-kho, hockey, cricket, hockey, kho-kho, tennis, tennis,
cricket, football, football, hockey, kho-kho, football, cricket, tennis, football, hockey,
kho-kho, football, cricket, cricket, football, hockey kho-kho, tennis, football, hockey,
cricket, football, hockey, cricket, football, kno-kho, football, cricket, hockey,
football.

Arrange the choices of games in a table using tally marks.
4



3

oo

39

40.

41

42

43

. The length of a rectangular field is 8 m and breadth is 2 m. If a square field has the

same perimeter as this rectangular field, find which field has the greater area and

by how much ?

. If Seetha’s age is x, represent the following in terms of x.

(@
(i)

Seetha’s mother twice as old as Seetha.

Seetha’s younger sister is 4 years younger to Seetha

(iii) Seetha’s father is 5 years older to her mother.

(i)
(i)

. ()

(i)

If the cost of 6 articles is Rs. 210, then

What will be the cost of 4 such articles ?

How many articles can be bought for Rs. 350 ?
SECTION-D (4mx6=18m)

Convert the following to mixed fraction.

12 121
a) — b) 1—0

L 12 1
Simplify : ?+8Z_3%

. Varun walked 8.62 km on Monday, 7.05 km on Tuesday and some distance on

Wednesday. If he walked 21.045 km in three days, how much distance did he walk

on Wednesday ?

Days Number of bulbs % — 100 visitory
Moty | E SR
me | FEEREEE
weancay | EEEEEE L XX
mts | $EEEEERRE
oy | FEEEERRRR
sty |$FFEEEEEEERRI

(i)

Look at the above pictograph and answer the following questions :
What is the total number of visitors from Monday to Saturday ?
On which day was the number of visitors maximum? What was their total

number?



(iii) ~ On which day was the number of visitors minimum ?
(iv)  On which day was the number of visitors same as the number of visitors on

two days taken together?
. N |
44. A bike travels 60 kmin 25 hours.
(i) How much time is required to cover 20 km with the same speed?
(i) Find the distance covered in 4 hours with the same speed.

45. (i) Four regular hexagons are drawn so as to form the design as shown in Figure. If
the perimeter of the design is 28 cm, find the length of each side of the hexagon.

(1)  Three squares are joined together as shown in Fig. Their sides are 4 cm, 10 cm

and 3 cm. Find the perimeter of the figure.

4cm 10 cm 3cm
46. Present age of Ashima is 16 years and that of her mother is 32 years. Find the ratio

of:
(i) present age of mother to the present age of Ashima.
(i1) age of the mother to the age of Ashima, when Ashima was 10 years old.
(iii) age of Ashima after 8 years to the age of her mother after 8 years.
(iv) age of Ashima to age of mother when mother will be 42 years.

* kX k *
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Atomic Energy Education Society
e qO&TT- 37991 TRAYF-11 / Annual Examination Practice Paper-I1

Class : VI Duration : 3HOURS
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General Instructions:
1) All the questions are compulsory.
il) This paper consist of four sections.

iii) Section A has 30 multiple choice questions of 1 mark each section B contains 4 question of 2
marks. Section C contains 6 questions of 3 marks Section D contains 6 questions of 4 marks.

iv) Use of calculator and other electronic devices are strictly prohibited.
SECTION—A (1x30=30Marks)

Q1.The value of 1+ 33 )
7 5 3
(a) 2 (b)2 (©1 (d) 2
Q2. Which of the following is a proper fraction? (1)
5 7 4 8
@< (b) 5 ©3 (d);
Q3. The equivalent Fraction of 53 with numerator 27 @
(8 = () = © @ =
Q.4. Fill in the box with correct symbol % 1 1)
(@ > (b) < (c) = (d) none of these
Q.5. 7% can be written in improper fraction as (1)
63 67 68 67
@ — (b) — © (d)+
Q6. Which of the following decimals is the smallest? (1)
(a) 0.0009 (b) 0.9 (c) 0.01 (d) 0.003
Q7. Convert 4.19 m into cm. 1)
(@) 419cm (b)41.9cm  (c) 0.419cm (d) 41.09 cm
Q8. Convert 7304 m into km. @)
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(a) 73.04 km (b) 730.4 km  (c) 0.7304 km (d)7.304 km

Q9. The side of square is 8cm. Its area is

(a) 64 cm? (b) 84 cm? (c) 100 cm? (d) 32 cm?
Q10.The area of rectangle whose length is 15 cm and breadth is 6 m

(@) 9000 cm? (b) 90 cm? (c) 9 cm? (d) 900 cm?
Q11. If the perimeter of square is 44 cm , then its area is

(a) 64 cm? (b) 81 cm? (c) 121 cm? (d) 88 cm?
Q12. The amount of surface enclosed by a closed figure is called its

(a)Perimeter (b)Area (c) Flat surface (d) Boundary
Q13. The perimeter of regular hexagon of side 4 cm will be

(@ 20 cm (b) 24 cm (c) 10 cm (d) 14 cm
Q14. Number of matchsticks required to make a pattern of ‘E’

(@ 5 (b) 2 (c) 3 (d)4
Q15. The value of variable in an expression is

(a) Fixed (b) Not Fixed (c) Zero (d) one
Q16. Sarita’s present age is ‘m’ years. What will be her age after ten years?

@ 10m (b) m-10 (c) 10-m (d) m+10
Q17. The age of Shiv is ‘x’ years and Sahil is 5 years younger than Shiv

then Sahil’s age is

@x+5 (b)x-5 (c) 5x (d) 5-x
Q18. Assertion (A) — The rule, which gives the number of matchsticks required

to make the matchstick pattern L, is 2n.

Reason (R) — For n = 1, the number of matchsticks required =2 x 1 =2

a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A

c) Alis true but R is false

d) Ais false but R is true
Q19. Assertion (A) — Two tens and 2-tenths =100.2

1)

1)

1)

1)

1)

1)

1)

1)

1)

1)

1)

Reason (R) — Decimals are a set of numbers lying between integers on a number line

a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A

c) Alis true but R is false
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d) Ais false but R is true

Q20. 30:15 is equivalent to Q)
(@)15:3 (b) 3:15 (c)2:1 (d) 3:2
Q21. Fill in the blank :- 25,30, and 48 are in proportion. Q)
(@) 15 (b) 40 (c) 35 (d) 10:25
Q22. 6 bowl cost Rs 90. What would be cost of 10 such bowls? (1)
@) Rs 300 (b) Rs 150 (c) Rs 200 (d) Rs 250
Q23.Fillinthe blank 2=2 1)
(@) 8 (b) 12 (c)3 (d)6
Q24. Find the ratio of 25 to 125? (1)
(@5:1 (b) 5:15 (c) 1.5 (d) 10:25
CASE STUDY
The following pictograph shows the number of absentees in a class of 30 students
during the previous week. Read the table and answer the questions given below:
Days Number of Absentees E:J} & students
i SRR AT AR
Tuesday
Wednesday
Ty 59999
Friday i %\ :%j} @@
Saturday %
Q25.0n which day were the maximum number of students absent? 1)
a. Thursday b. Friday c. Wednesday d. Saturday
Q26.Which day had full attendance? @
a.Thursday b. Friday c. Wednesday d. Saturday
Q27.What was the total number of absentees on Tuesday? (@8]
a. 20 b. 25 c. 50 d. 10
Q28.0n which day 30 students were absent? (@8]
a.Thursday b. Tuesday c. Wednesday d. Saturday
Q29.Convert 116 mm into cm : (@8]
a.11.6 cm b.1.16 cm c.0.116 cm d. 116.0 cm
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Q30. 15.8- 6.73 is equal to D
a. 8.07 b.9.07 c.9.13 d. 9.25
SECTION—B (2x4= 8 Marks)

Q31. (i) Subtract 1% from 6 g )

(i) Write % as mixed fraction.

Q32. (i) Subtract 0.314 kg from 2.107 kg. 2
(ii) Add : 27.076 + 0.55 + 0.004

Q33.1f there are 20 mangoes in a box, how will you write the total number 2

of mangoes in terms of the number of boxes? (use ‘b’ for the number of boxes)
Q34. Raju purchases 10 pens for Rs 150 and Manish buys 7 pens for Rs 84. (2)

Can you say who get the pens cheaper?

SECTION—C (3x6= 18 Marks)

Q35.Mary bought 3 % m of lace .She used 1 % m of lace for her new dress. How much 3)

lace is left with her?
Q36. Manoj bought vegetables weighing 15 kg .Out of this 3 kg 500g is onion, 2kg 759 (3)
Is tomato and the rest is potato. What is the weight of potato?
Q37. Calculate the cost of tiling a square park of side 75 m at a rate of Rs 8 persg. m.  (3)
Q38. Find the area and perimeter of rectangle whose length is 200 cm and 70 cm. 3
Q39.Radha is drawing a dot Rangoli ( a beautiful pattern of lines joining dots with 3)
chalk powder. She has 10 dots in a row.How many dots will her Rangoli have for ‘r’
rows? How many dots are there if there are 9 rows? If there are 12 rows?

Q40. Cost of 5 kg of wheat is Rs 91.50 3
(1) What will be the cost of 8 kg of wheat ?
(i)  What quantity of wheat can be purchased for Rs 183?
SECTION—D (4x6= 24 Marks)

Q41. (a) Add )2+ 2+2 (i) 2 and 2 ()
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(b) Write % as mixed fraction.

Q42. (i)Add5.4,12.84 and 115.2 (4)
(if) Expressinkm  (a) 4545m  (b) 6 km 50 m
(iif) What is 7.638 - 1.15 ?

Q43. Total number of animals in five villages are as follows : 4)
Village A : 80 Village B : 120 Village C : 90 Village D : 40 Village E : 60
Prepare a pictograph of these animals using one proper symbol to represent 10 animals and
answer the following questions :

(@) How many symbols represent animals of village E?
(b) Which village has more animals : village A or village C?

Q44. (a) Find the perimeter of the following figures: 4)
A 10m g 23 cm
g
$ 4 5 o
7]
n
E ) on %
F
60 m %)
ks C
(A) D 90m (B) 40 cm

(b) An athlete takes 10 rounds of a rectangular park, 50 m long and 25 m wide. Find the totaldistance
covered by him.

Q45. (a) The side of an equilateral triangle is denoted by ‘s . 4
Express the perimeter of the equilateraltriangle using ‘s’.

(b)Vansh has brought laddus. He gives some laddus to guests and family members; still 9
laddus remain. If the number of laddus Vansh gave away is ‘/’, how many laddus did he
brought?

Q46.(a) Are the following statements true? (4)
(1) 7.5 litres : 15 litres = 5 kg : 10 kg
(i) 99kg :45kg=Rs44:Rs 20
(b) Divide 20 pens between Sheela and Sangeeta in the ratio of 3 : 2.
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General Instructions:

I. All parts and all questions are compulsory.

ii. This question paper consists of two parts A and B.

iii. Part A consists of 30 questions of 1mark each (MCQ).

iv. Part B consists of --
(31- 34) four Very short answer questions carrying 2marks each.
(35- 40) six short answer questions carrying 3 marks each.
(41-46) six Long answer questions carrying 4 marks each.

PART-A (Multiple choice questions) (1 x 30=30 Marks)

Choose the correct option:

1.

2m 2cm = m.

(@) 2.2 (b) 2.02 (c) 2.002 (d) 22

Ina fraction, the numerator is less than the denominator.

(a) improper (b) like (c) proper (d) unlike
is a collection of numbers gathered to give some information.

(a) Pictograph (b) Observation (c) Tally marks (d) Data

Figures in which all sides and angles are equal are called closed figures.

(@) regular (b) irregular (c) equal (d) unequal

A can take different values, its value is not fixed.

(@) expression (b) variable (c) pattern (d) term

If two ratios are equal, then they are said to be in

(a) order (b) regular (c) proportion (d) queue
Perimeter of an equilateral triangle is equal to?

(@) length x breadth (b) 4 x length of aside (c) side x side (d) 3x length of a side
If Radha’s age is x years. Leela is her younger sister. She is 4 years younger than
Radha.

Then Leela’s age is years.

(@) x-4 (b) x+4 (c) 4x (d) 4-x
0.7+0.08=
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(@) 0.15 (b) 0.78 (c) 0.87 (d) 7.08

10. The ratio of the number of sides of a rectangle to the number of edges of a cuboid is
(@ 1:4 (b) 1:2 (c)1:3 (d)4:1

11. The rule, which gives the number of matchsticks required to make the matchsticks

pattern in the letter ‘C’ is
(@) 4n (b) n (c) 2n (d) 3n

12. Equivalent fraction of gis ?

8 9 8 7
@ - (b) ~ (€ 5 )
13.4560 g = kg.
(a) 4.560 kg (b) 45.60 kg (c) 456.0kg (d) 4560kg

14. The decimal form of 300+20+7+-> +—— =
10 100

(a) 372.65 (b) 327.65  (c) 237.56 (d) 237.56
15. Area of the rectangle whose sides 2km and 3kmis__ .
(@) 6sqkm (b) 6 km (c) 6000000 sgkm (d)6sgm
16.22 Zand2 are fractions.
55 5 5
(a) Equivalent (b) like (c) unlike (d) improper
17. The area of a rectangular garden 50 m long is 200 sqg m. What is the width of the
garden?
(@ 40m (b) 4m (c) 400 m (d)4sgm
18. If the cost of a dozen soaps is Rs.60, what will be the cost of 15 such soaps?
(@ Rs.75 (b) Rs.900(c) Rs.90 (d) Rs.300
19. Ratio of 15 cm to 2m is?
(@ 40:3 (b)75 :1(c)1:75 (d)3:40
20.27.076 +0.55 -11.02 =
(2)16.606 (b) 38.646 (c) 16.660 (d) 93.096
21.If =45 stars, then Wk ke stars.
(@4 (b) 45 (c) 60(d) 65
22. The perimeter of a regular pentagon is 70 cm. The length of one sideis ___ cm.
(@ 12 (b) 14 (c) 15 (d) 10
23. If the perimeter of a square field is 44 m, then its area is sgq m.
(@) 11 (b) 121 (c) 484 (d) 1936
24. 2 rupees 60 paise = Rs.
(a) 02.06 (b) 02.60 (c) 200.60 (d) 200.06
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25. The area of the given figure is sg unit.

2
1 1
2 2
1
2
(@) 16 (b) 12 (c)8 (d) 13
26. The equivalent ratio of 4 : 5 is
(@8:10 (b)12:10 (c)16:25 (d)20:20
27. The side of the square whose perimeter is 20 cm, is :
(@ 5cm (b) 400 cm (c)4cm (d) 80cm

From the below pictograph answer the questions : ( 28 and 29)
E = 50 books

DAYS Number of books

Monday [Ij E E ﬂj

Tuesday E E

Wednesday E E I]:I

Thursday E nj ﬂj ﬂj nj

Friday E E

Saturday nj
28. How many books were sold on Thursday?
(@) 250 (b) 50 (c) 500 (d) 150
29. On which day150 books were sold ?
(a) Monday (b) Friday (c) Wednesday (d) Saturday

30. Assertion(A) :The perimeter of the square with side 6 cm is 36 cm.
Reason (R) : Perimeter of a square = 4 x length of a side
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.
(c) Alistrue but R is false.
(d) Ais false but R is true.
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31.

32.

33.

34.

35.

o

36.

37.

38.

39.

PART-B
(Very short answer type: 31 -34) (2 x 4=8 marks)
Write the following as decimals:

2 8
60 ++ —
10 100

Three hundred one and five tenths
Find the ratioof 90 cm to 1.5 m.
Find the perimeter of a regular hexagon with each side measuring 4 cm.

A room is 3m long and 2m 50 cm wide. How many square meters of carpet is needed
to cover the floor of the room?

(Short answer type: 35-40) (3 x 6=18 marks)

The choices of the fruits of 42 students ina class are as follows:

Apple Orange Banana Mango Apple Guava Banana

Guava Apple Guava Banana Mango  Apple Guava
Mango Apple Banana Guava Mango Banana  Apple

Orange Mango Orange Guava Banana  Orange Mango
Guava Apple Apple Banana Mango Orange  Banana

Guava Mango Orange Mango Orange Mango  Apple
Arrange the above data using tally marks.

Which fruit is liked by most of the students?

Which two fruits are liked by an equal number of students?

Compare and fill appropriate sign. (<, =,>)

a. 1.0 0.88
b. 2.04 2.40
c. 7 7.00

Ravi bought 4 kg 90 g of potatoes, 2 kg 60 g of tomatoes and 5 kg 300 g of onions .
Find the total weight of all the fruits he bought.

Express the following as mixed fraction:
17

. 31 .-
0 = @i -
A piece of wire is liometre long broke into two pieces. One piece was %metre long.
How long is the other piece?
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40. A floor is 5 m long and 4 m wide. A square carpet of sides 3 m is laid on the
floor.Find the area of the floor that is not carpeted.

(Long answer type : 41-46) (4 x6 =24 marks)

41. Observe the following pictograph and answer the questions:

(© =10 student

Activity Club Number of Children

At ©OOO

pance OOOO OO

Sculpture @@ @

Literary @@ @ @

(i) Which activity club has maximum number of students?

(if) Which activity club has minimum number of students?

(iii) Which activity clubs have equal number of students?

(iv) How many more students are there in dance club than literary club?

42. Using decimals, express -

a. askg--- 2kg19g
b. ascm--- 17 cm and 5 mm

43. Do as directed:
a. Reduce the following fraction to simplest form:g
b. Are 33, 44, 75 and 100 in proportion?

44. Find the value: 8% - 22

45. Arun wants to cover the floor of his kitchen 5 m wide and 6 m long by squared tiles.
If each square tile is of side 50cm, then find the number of tiles required to cover the
floor of the kitchen.

46. A truck requires 108 litres of diesel for covering a distance of 594 km. How much
diesel will be required by the truck to cover a distance of 1650 km?
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qTaT=AAer / General Instructions:
1. This paper consists of Section A ,Section B, Section C and Section D.

2. Section A: Multiple Choice Questions (MCQs) including case based MCQs and MCQs on
Assertion Reasoning type.

3. Section B: Subjective Questions (Very Short Answer (VSA), Question No.31 to 37 carries
2 marks each

4. Section C from question No. 38 to 44 are Short Answer (SA) type and carries 3 marks
each.

5. Section D from question no.45 to 47 are Long Answer (LA) type having different formats
i.e. Case based, Situation based, Open-ended-short answer/ long answer type and carry 5
marks each

4. All Questions are compulsory.

5. Draw neat and labelled diagrams wherever necessary.

Section A
1. Which motion can be seen in the hands of a clock? 1 M)
(A) Circular (B) Periodic
(C) Oscillatory (D) Both (a) and (b)
2. When an object turns about a fixed axis, which type of motion is it? (1 M)
(A) Periodic (B) Circular
(C) Rotational (D) Linear
3. A mirror is an example of 1 M)
(A) transparent object (B) opaque object
(C) translucent (D) none of these
4. The position of the shadow changes with 1 M)
(A) the position of the light source (B) the movement of the light source
(C) both (a) and (b) (D) none of these
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5. When a light ray returns back after striking the surface of the plane mirror is called (1M)

(A) reflected ray (B) incident ray

(C) both (a) and (b) (D) none of these

6. A bulb has (1M)
(A) two terminals and two filaments (B) two terminals and a filament
(C) multiple terminals and single filament (D) single terminal and a filament
7. A bulb lights up only in 1 M)

(A) a closed circuit (B) an open circuit

(C) in both (D) series connection

8. Which is an example of insulator (am)

(A) Bakelite (B) Tap water

(C) Aluminium (D) All of these

9. The word magnet is derived from the old French word am)

(A) magnesia (B) maguos

(C) magnete (D) magnetum

10. Which of the following is an artificial magnet? am)

(A) Bar magnet (B) Horse-shoe magnet

(C) Disc shaped magnet (D) All of these

11. What does a magnet contain? am)
(A) Wood (B) Glass

(C) Iron (D) Stone

12. is the structural and functional unit of all living things. (aMm)

(A) Matter (B) Cell (C) Organs (D) Tissue

13. Which one of the following is not terrestrial habitat? am)
(A) Soil (B) Tree (C) Ocean (D) Desert

14. Primary function of scales on fishes is to (M)
(A) help them to swim (B) keep them warm

(C) attract other fishes (D) protect themselves

15. The composition of nitrogen gas in the atmosphere is am
(A) 21% (B) 78% (©) 1% (D) 0.01%

16. Mountaineers carry oxygen cylinder with them because am

(A) there is no oxygen on high mountains

(B) there is deficiency of oxygen on mountains at high altitude
(C) oxygen is used for cooking

(D) oxygen keeps them warm at low temperature
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17. Which components of air are harmful to living organisms? (am)
(A) Nitrogen and oxygen (B) Dust and smoke
(C) Oxygen and carbon dioxide (D) Smoke and water vapour

18. An animal lives on land and in water. It has a tail and its body is covered with scales. This

animal is (aMm)
(a) shark (b) crocodile (c) frog (d) fish
19. Which one of the following statements is correct? (am)

(A) Several kinds of plants and animals may share the same habitat.
(B) All the animals and plants in a habitat are adopted to it.

(C) Both the statements (A) and (B) are correct.

(D) None of these is correct.

20. Animals and plants have certain features which make them to survive in a particular

habitat. This is called (am)

(A) adaptation (B) speciation (C) specialisation (D) evolution
21. The act of determining, size, capacity or quantity of an object is called (AM)
(A) units (B) measurement (C) pace (D) motion

22. The object which does not have light of its own is (1M)
(A) shining mirror (B) light bulb

(C) star (D) lighted match box

23. The filament of a bulb is made up of (aMm)
(A) tungsten (B) platinum (C) aluminium (D) chromium
24. Which of the following is a natural magnet? (aMm)
(A) Lodestone (B) Bar magnet (C) Ball-ended magnet (D) Horse-

shoe magnet
ASSERTION AND REASONING TYPE QUESTIONS

The questions below consists of an assertion and a Reason. Use the following key to choose
the appropriate answer.

A) Assertion and reason both are correct statement and reason is correct explanation for
assertion.

B) Assertion and reason both are correct statement and reason is not correct explanation for
assertion.

C) Assertion is correct statement but reason is wrong statement.
D) Assertion is wrong statement but reason is correct statement.

25. Assertion(A) — The objects which move along a straight line are called rectilinear
motion.
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Reason(R) — The objects which move in a circular form are called circular motion of
that object. (AM)
26. Assertion(A) — Never ever look directly at the sun that could be extremely harmful for
eyes.

Reason(R) — Pin hole camera can be used to brightly little objects. am

27. Assertion (A): In a closed electric circuit the current passes from one terminal of the
electric cell to the other terminal.
Reason (R): Generally, the metal disc of a cell acts as positive terminal. (am)

28. Assertion (A): In a closed electric circuit the current passes from one terminal of the
electric cell to the other terminal.
Reason (R): Generally, the metal disc of a cell acts as positive terminal. (am)

29. Assertion(A) — Opposite pole of two magnets attract each other where as similar pole
repel one another.

Reason(R) — A freely suspended magnet always aligns in n-s direction.
(IM)

30. Assertion (A) : Any animal which adapts itself against heat and water scarcity is well
suited for desert conditions.
Reason (R) : In deserts only little water is available. (1m)

Section B (7x2=14)

31. How body structure of camel helps it to survive in desert condition? (2M)
32. How are leaves of desert plants modified to reduce loss of water? (2M)
33. What is the difference between roots of terrestrial plants and aquatic plants? (2M)
34. Name the unit of length, which should be used to

(i) express the thickness of a coin.(1M)

(i1) Distance between Delhi and Lucknow (1M)
35. Define opaque objects with example.(2M)

36.(i) Complete the drawing shown in Fig to indicate where the free ends of the two wires
should be joined to make the bulb glow.(1M)

e

(if) Give any difference between a cell and a battery.(1M)
37. Why does bar magnet always point in north-south directions?(2M)

Section C
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7x3=21
38. (i) How exchange of gases takes place in plants?  (2M)
(i) What do you mean by term excretion? (1M)
39. (i) Define reproduction. (1M)
(if) Name any two plants which can reproduce through cuttings.(2M)
40.(i) (Why do desert snakes burrow deep into the sand during the day? 1M)

(if) Write the adaptation in aquatic plants due to which.

(a) submerged leaves can bend in the flowing water. (1M)

(b) leaves can float on the surface of water.(1M)

41.(i) A 30 cm scale has one end broken. The mark at the broken end is 2.6 cm. How would
you use it to measure the length of your pencil?(2M)

(i1) State two precautions, which should be taken while using a metre scale to measure the
length of an object.(1M)

42.(i) How will you convert a transparent glass sheet into a translucent sheet? Suggest any
two ways to do it.(2M)

(if) Sometimes, you are able to see the Sun or the Moon behind the clouds. What can you
say about the ability of such clouds to transmit light? ‘(1M)

43.(i) Why should an electrician use rubber gloves while repairing an electric switch at your
home? Explain.(2M)

(i1) Define Electric cell(1M)
44. How can you make an iron strip into a magnet?(3M)
Section D 5x3=15

Case Based Questions:
45.Read the passage given below and answer the questions that follow-

The place where organisms live is called habitat. Habitat means a dwelling place (a home).
The habitat provides food, water, air, shelter and other needs to organisms. Several kinds of
plants and animals live in the same habitat. The plants and animals that live on land are said
to live in terrestrial habitats. Some examples of terrestrial habitats are forests, grasslands,
deserts, coastal and mountain regions. On the other hand, the habitats of plants and animals
that live in water are called aquatic habitats. Lakes, rivers and oceans are some examples of
aquatic habitats. There are large variations among terrestrial habitats like forests, grasslands,
deserts, coastal and mountain regions located in different parts of the world.
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The organisms, both plants and animals, living in a habitat are its biotic components. The
non-living things such as rocks, soil, air and water in the habitat constitute its abiotic
components.

(DHADItAt MEANS ... e e (1M)....

A) Grassland B)Dwelling place C) Terrestrial habitat D) All of the above
(if) Which of the following is an aquatic habitat?(1M)

A) Lakes B) Forest C) Oceans D) Both (a) and (c)

(1i1) Non-living things are the biotic components of a habitat.(1M)

A) True B) False

(iv) Write a short note on biotic and abiotic components of a habitat?(1M)

(v) How terrestrial habitats are different from aquatic habitats? (1M)

46. A shepherd named Magnes lived in Greece used to take his herd of sheeps and goats on a
mountain for grazing. He always carried a stick to control his herd. The stick had a small
piece of iron attached to one end. One day he had to pull hard to free his stick from a rock on
the mountain side.

(i) Why has Magnes to pull hard to free his stick from a rock on the mountain side on that
particular day?(1M)

(A) His stick was stuck in the bushes on the mountain.

(B) He was holding his stick in such a way that the portion of stick having small piece of iron
attached was held by him in his hand.

(C) The portion of stick having iron piece attached to it was pointing towards rock and get
attracted strongly by the rock

(D) None of these

(i) The credit for the discovery of natural magnet goes to (am)

(A) Mendes (B) Mendel (C) Magnes (D) None of these

(iii) Magnes lived in (aMm)

(A) Ancient India (B) Ancient China (C) Egypt (D) Ancient Greece

(iv) Magnets have a shape (1M)
(A) Cylindrical (B) Ball ended (C) Horse Shoe (D) All of these
(v) The magnetic properties of a magnet cannot be destroyed by(1M)
(A) Hammering  (B) Heating (C) Dropping on a hard surface (D) Boiling

47. A student observes a tree given in figure through a pinhole camera. Which of the
diagrams given in figures (a) to (d), depicts the image seen by her correctly?
(1 M)

Page 6 of 8



(b)
(d) *
(ii) Observe the picture given in figure carefully. am)
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A patch of light is obtained at B, when the torch is lighted as shown. Which of the following
is kept at position A to get this patch of light?

(A) A wooden plank

(B) A glass sheet

(C) A Mirror

(D) A sheet of white paper

(iii) Four students A, B, C and D looked through pipes of different shapes to see a candle
flame as shown in figure.

Who will be able to see the candle flame clearly? (am)

(A) A

(B)B

©c

(D)D

(iv) Which of the following is/are not always necessary to observe a shadow? am)
(A) Sun (B) Screen (C) Source of light (D) Opaque object
(v) Which of the following can never form a circular shadow? (1M)
(A) A ball (B) A flat disc (C) A shoe box (D) An ice cream cone

khkkhkhkkhhhhhkhkhkhkhkhkhrrhhhhkhkhkhhhrrrhhhhkhkhhrrrrhhhhkhkhhrrrrrhhhhkhhrhrrrrhhhhhhiiirix
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General Instructions:

1.The paper consists of two parts, PART-A and PART-B
2.PART-A contains 30 questions of 1 mark each.
3.PART-B contains

(I) 7 questions of 2 marks each,

(I)7 questions of 3 marks each and

(IIT)3 questions of 5 marks each.

4.Draw neat and labelled diagrams wherever necessary.

5.All questions are compulsory.

PART A 1X30=30
Select the most appropriate option.

1.Mohan comes across an animal having a streamlined and slippery body. What is the habitat
of the animal?

(a)Water (bDesert (c)Grassland (d) Mountain

2.Breathing is a part of a process called

(a)Reproduction (b)Excretion (c)Respiration (d)None of these.

3.The distance between Chennai and Mumbeai is usually expressed in units of:
(a)Decametre (b)Metre (c)Centimetre (d)Kilometre

4.Which of the following is a mode of water transport?

(a)Boat (b)Bus (c)Train (d)Aeroplane

5. The image formed by the pin hole camera is

a) Erect (b) Inverted (c) Diagonal (d) All of these

6.Which of the following can never form a circular shadow?



a)A flat disc b)A ball c¢)An ice-cream cone d)A shoe box.

7. Which of the following is an insulator?

a)Copper wire b)Plastic spoon c¢) Aluminium foil d)All of these.

8.A device containing two plane mirrors which gives a higher view than normal is:
a)Stethoscope b)Periscope ¢)Pin hole camera d)Microcsope

9. is a magnetic material.

a)Rubber b)Plastic ¢)Nickel d)Wood

10.Opposite poles of two magnets each other.

a)Attract b)Repel c)May attract or may repel d)Always repel

11.When air comes in contact with a cool surface it:

a)Evaporates b)Condenses c)Melts d)All of these

12.Mountaineers carry oxygen cylinders with them because

a)There is no oxygen on high mountains. b)There is deficiency of oxygen on mountains of
higher altitude

c)Oxygen is used for cooking d)Oxygen keeps them warm at low temperature.

Directions: Question number 13 to 16 consists of two statements-Assertion and Reason.

Answer the questions by selecting an appropriate option from below:

a) Both Assertion and Reason are true and Reason is the correct explanation of

Assertion.

b) Both Assertion and Reason are true but Reason is not the correct explanation of

Assertion.

c)Assertion is true but Reason is false.

d) Assertion is false but reason is true.

13Assertion(A): Silver is not used to make electric wires.
Reason (R): Silver is a bad conductor.

14.Assertion (A): When the light from a source falls on a mirror it gets reflected.
Reason (R): On being reflected there is no change in the direction of light.

15.Assertion (A): The motion of a ball rolling on the ground shows only rectilinear motion.
Reason (R): The motion of ball rolling on the ground is a combination of different types of

motion.



16.Assertion (A) : The plants and animals that live on land are said to live in terrestrial

habitat.

Reason (R) : Ponds, rivers, lakes, etc., are examples of terrestrial habitats.

CASE STUDY BASED QUESTIONS
A shepherd named Magnes ,lived in ancient Greece, used to take his herd of sheep and goats
on a mountain for grazing. He always carried a stick to control his herd. The stick had a small
piece of iron attached to one end. One day he had to pull hard to free his stick from a rock on
the mountain side.It seemed as if the stick was being attracted by the rock.

17. (i) Why has Magnes to pull hard to free his stick from a rock on the mountain side on that
particular day?

a) His stick was stuck in the bushes on the mountain.

b) He was holding his stick in such a way that the portion of stick having small piece of iron
attached was held by him in his hand.

c) The portion of stick having iron piece attached to it was pointing towards rock and get
attracted strongly by the rock

d) None of these

18.The credit for the discovery of natural magnet goes to
a) Mendes

b) Mendel

c) Magnes

d) None of these

19.Magnes lived in
a) Ancient India
b) Ancient China

c) Egypt
d) Ancient Greece

20.The rock was a
a) Natural magnet
b) Artificial magnert
c)Man-made magnet

d)None of these.



The bulb does not glow when the free ends of the wires are in contact with some of the
materials. This means that these materials do not allow the electric current to pass through
them. On the other hand, some materials allow electric current to pass through them, which is

indicated by the glowing bulb.

_Filament

( p

<& ;‘;"‘Terminals‘ o
(a) (b)

(a) Torch bulb and
(b) Its inside view

21.How many terminals does a bulb have?

a)One b)Two c)Three d)Four

22. Paheli is running short of connecting wires.To complete ther circuit,she may use a
a)Plastic scale b)Thick cotton thread c)Rubber pipe d)Steel spoon

23. Filament of a torch bulb is

a)A metal case b)Metal tip at the centre of the base
c) Two thick wires d)A thin wire
24. Materials which allow electric current to pass through them are called of electricity.

d)Insulators b)Conductors c)Neither conductors nor insulators d)None of these

VERY SHORT ANSWER QUESTIONS

25. Name two luminous objects.

26.With which part of the body do the Dolphins breathe?

27.In which direction does a freely suspended magnet always aligns?
28.What is the SI unit of length?

29. What is a switch?

30.Mention any one characteristic property of air.

PART B(I)
Answer the following : (2x7=14)



31.What is the difference between transparent and opaque objects?

32. During an incident of fire, one is advised to wrap a woollen blanket over a burning object.
Why?

33. If you push your hand deep inside a sack of wheat, why do you find it warm inside?
34.Write two adaptations of cactus that help them to survive in a desert.

35.How are shadows formed? Three identical towels of red, blue and green colour are
hanging on a clothes line in the sun. What would be the colour of the shadows of the three
towels?

36.The distance between Ravi’s home and his school is 5250m.Express this distance in Km
and cm.

37.How do plants and animals help each other in the exchange of gases in the atmosphere?

PART B(II)
Answer the following: (3x7=21)

Q.38. State any three precautions which we should take while measuring the length of an
object.

39. What are the biotic and the abiotic components of a habitat? Give one example of each.

40. Write two methods by which a magnet can be demagnetised. Write two precautions which
must be taken to keep the magnets safe.

41Draw an Electric circuit with a cell, connecting wires a bulb and a switch with “OFF”
position.

42. “Light travels along a straight line. Explain with the help of an activity.

43.What is the difference between periodic motion and rectilinear motion? Give one example
of each.

44 List three activities that are possible due to the presence of air.

PART B(III)
Answer the following in 4 to 5 lines-(5x3=15)
45. All living things require air. Air is a mixture of many gases like nitrogen, oxygen,
carbon dioxide and water vapour. It also contains dust particles, smoke etc. The major part of
air is nitrogen. It does not support in burning of substances. Dust and smoke are produced
during burning of fuel. It contains few gases and fine dust particles which are harmful for

health and creates many respiratory diseases like Asthma, Chronic Obstructive Pulmonary



Disease (COPD), Acute Bronchitis etc. Oxygen is the essential part of air and for the survival

of animals. Carbon dioxide makes up small component of air around us. Any substance which
burns

actually consumes oxygen and produce carbon dioxide and other gases. It is advisable not to
burn dry leaves and discarded remains of the crop, which pollute our surroundings.

The pie chart shows the composition of air.

Carbon dioxide,
water vapour
and other gases

Nitrogen

Fig. 15.8 Composition of air.

Name of Constituents % Composition
Nitrogen gas 78.1%
Oxygen gas 20.9%
Carbon dioxide gas 0.03%
Argon 0.9%
a) Which of the components of the air is present in the largest amount ? (1)

b) The graph shows the composition of air. How much percent approximately do nitrogen and
oxygen together make up air? (1)
c)Substances consume on burning and produce mainly and other gases. (1)

d) Why should we reduce the burning of fuels and the discarded remains of the crop? State
two reasons. 2)

46. (i)How is compass used to find directions? (2)
(i1)You have been given an iron strip .How will you make it into a magnet? (3)

47.(1i)Radha placed a potted plant in a room a little away from a window through which
sunlight enters sometime during the day. She continued watering the plant for a few days.
Will the plant grow upright like plants out in the open? Why? 2)

(11))What happens to your eyes when you suddenly move from a dark place into bright
sunlight? (1)



(ii1) List two common characteristics of the living things. (2)
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General Instructions:

(1) The question paper comprises four sections A,B,C and D. There are 47 questions in the
question paper. All questions are compulsory.

(i) Section A has 30 questions each of 1 mark. Q 1 to 18 are MCQ’s, Q 19 to Q 23 are to be
answered in one word, Q 24 to Q 26 are based on assertion and reasoning and Q 27 to Q 30)
are case based questions.

(iii) Section B has 7 questions (Q 31 to Q 37) and each question carries 2 marks,7 questions
(Q 38 to Q 44) each question carries 3 marks, 3 questions (Q 45 to 47) each question carries 5
marks.

(iv) Draw neat labelled diagrams wherever necessary.

SECTION-A
I. Choose the correct answer from the questions given below: (1x18=18)
1. Air is considered to be:
a) A compound c) A solvent
b) A mixture d) An element

2.The tiny coiled metal wire present inside the bulb is
a) Filament c) Conductor
b) Element d) None of these
3. The motion of a bullet fired from a gun shows.
a) Non-periodic motion ¢) Random motion
b) Rectilinear motion d) Periodic motion

4.Study carefully the following magnets.
X
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Identify X

a) North pole ¢) South pole

b) North- South pole d) South- North pole

5. The tip of the seconds hand of a clock is coloured red. Which of the following type of

motion will be exhibited by the red coloured tip of the seconds hand of this clock?

A. Rotational motion C. Circular motion

B. Periodic motion D. Rectilinear motion

a)Aand B c)AandC
b) Band C d) Cand D
6. The French created a standard unit of measurement called.
a) S.1 Unit c) Metric System
b) Metre

d) None of these
7.To prevent electric shocks, metallic wires are covered with
a) Paper c) foil

b) Cotton d) Plastic

8.What do we call the image that we see in the mirror?

a) Reflection c) Shadow
b) Object d) None of them

9. A material that does not allow the electricity to pass through it is
a) Conductor

b) Wire

c) Insulator
d) None of these
10. In a bar magnet, magnetic attraction is

a) Maximum near the ends ¢) Minimum near the ends

b) Always changing at the ends d) None of these
11. Bouncing back of light from shining surface is called

a) Reflection ¢) Refraction

b) Bending d) Dispersion

12. is an electric device which can easily open and close an electric circuit.
a) Filament c) Electric switch
b) Wire

d) Electric Cell
13. In lateral inversion
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a) Image appears upside down

¢) Right part of the object appears left in image

d) All of them are correct

14. Wecanuse __ tomeasure a length of a curved line.
a) Meter scale ¢) Measuring tape
b) Hand span d) Thread
15. Pinhole camera produces an
a) An inverted and small image c) An erect and small image
b) An inverted and enlarged image d) None of them

16. Envelope of air surrounds the earth is
a) Biosphere c) Ecosystem
b) Atmosphere d) Environment

17. Which components of air are harmful t living organisms?

a) Nitrogen and oxygen c¢) Oxygen and carbo dioxide

b) Dust and smoke d) Smoke and water vapour
18. Weather cock shows the direction of amoving __ of a place.

a) Air c) Smoke

b) Dust d) Water

Answer the following questions in one word (1X5)
19. There are____ terminalsin a dry cell.

20. The system of unit of measurement used now a days is
21. Air burning of material.
22. The same type of magnetic poles are called poles.

23. The image that cannot be obtained on screen is called ___ image.

Assertion- Reason based question (1X3=3)

Assertion and reason type questions. Two statements are given. The first statement is
Assertion and second statement reason. Examine the two statements carefully and decide if
the given options are correct:
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a) Both A and Ris true R is the correct explanation of A.

b) Both A and R is true but R is not the correct explanation of A.

c) Ais true, but R is false.

d) A is false, but R is true.

24. Assertion: Never ever look directly at the sun that could be extremely harmful for the
eyes.

Reason: Pinhole camera can be used to observe brightly little objects.

25. Assertion: Opposite poles of two magnets attracts each other whereas similar pole repel
each other.

Reason: A freely suspended magnet always align in N-S direction.
26. Assertion: Tungsten metal is used for making filament of bulb.

Reason: The melting point of tungsten is very low.

Case Based Question (1X4=4)

Read the following passage and answer the questions that follow.

A shepherd named Magnes lived in Greece used to take his herd of sheeps and gots on a
mountain for grazing. He always carried a stick to control his herd. The stick had a small
piece of iron attached to its one end. One day he had to pull hard to free his stick from aa
rock on the mountain side.

27. The credit for the discovery of magnet goes to
a) Mendes c) Mendel
b) Magnes d) Megnese
28. Magnes lived in
a) Ancient India c) Ancient China
b) Egypt d) Ancient Greece
29. Why has Magnes to pull hard to free his stick from a rock on the mountain side on that
particular day?
a) His stick was stuck in bushes on the mountain.
b) He was holding his stick in such a way that the portion of stick having small piece of iron

attached was held by him in his hand.
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c) The portion of stick having iron piece attached to it was pointing towards rock and get

attracted strongly by the rock

30. A magnet always align in direction when suspended freely.
a) N-S c)S-N
b) Any direction d) E-wW
SECTIONB
I1. Answer the following in one or two sentences: (2x7=14)

31. Four children A, B, C, D measure the length of a table which was about 1m. Each of
them used different ways to measure it.

a) A measured it using a 2m long measuring tape.

b) B measured it with a 10 cm scale from her geometry box.

c) C measured it with a 0.5 m long thread.

d) D measured it using her hand span.

Which one of them will get most accurate length? Give reason.
32. How can we convert an iron bar into a magnet?

33. How does plants and animals help each other for the exchange of gases in the
atmosphere?

34. The students were asked to run around a square field in the school for 7 min. In first 30
Seconds they have covered only one side of the field that is 50m.
What is the total distance they have covered?
35. How a magnet can loose its magnetic properties ?
36. Mention the device used to measure the following:
a) Size of your shoulder
b) Size of your wrist
¢) Cloth for the curtain
d) Circumference for the round table

37.Why we should breathe through nose and not through mouth?
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38.

39.

40.

41.

Answer the following in three to four sentences: (3X7=21)
Four friends measured the length of the field. All of them got different result. List
minimum three reasons for such discrepancy.
Few iron nails and screws got mixed with the wooden shavings while a carpenter
was working with them. How would we separate the wooden shavel from iron nails and
scews?
Explain reason for following statements:

a) A firki does not rotate in a closed room.

b) An empty glass is, in fact, not empty.

¢) Breathing through the mouth may harm you.
You are given a transparent glass sheet. Suggest two ways to make it translucent

without breaking it.

42. What are the conditions required for the formation of shadow?

43.
44,

Explain why burning a fire in a closed room causes people to suffocate?

How does the bulb function? What causes the bulb to fuse?

IV. Answer the following in four to five sentences: (5x3=15)

45. a) Why do policemen wear masks while regulating traffic at crowded crossing areas?(2.5)

b) Are breathing and respiration same? (2.5)

46. Diya has made a device through which she can observe the activities going on, on the

Other side of the wall without being caught. The device she made is Z shaped and contain

Two mirrors at the opposite corners.

a) Identify the device. 1M
b) What is the use of this device? 1M
¢) What kind of image is formed in a plane mirror 1M
d) What is reflection of light? 2M
47. a) List down any three differences between conductors and insulators. 3M
b) Draw a well labeled diagram of an electric circuit. 2M

Page 6 of 6



ﬁﬁﬁﬁ E@ TB>AT / Total No. of printed pages: _06_

8 TRATO] Foit fRreTor Heur
- Atomic Energy Education Society

i qO&TT- 1A 9eT9=-1/ Annual Examination Practice Paper-I

$&Tl/Class : VI 3/af/Time : 3 Hours
fasar/Subject :  Social Science 31 ddA 3/ Maximum Marks : 80

General Instructions:

1. This question paper contains 42 questions.

2. The question paper comprises two sections. A and B

3. Section A- Question No.1 to 30 is Multiple Choice Questions and each question carries 1 mark.

4. Section B- Question No. 31 to 35 are Short Answer Type Questions and each question carries 3 marks.
Question No. 36 to 39 are Long Answer Type Questions and each question carries 5 marks.
Question No. 40 to 41 are Case Study Based Questions and each question carries 5 marks.
Question No. 42 is Map Based Questions. It carries 5 marks.

5. Attach your map with Answer Sheet.

SECTION A

Multiple Choice Questions (1X20=20)

Choose the correct option

Sr.No. Marks
1. Jainism was founded by: 1
a) Zoroaster b) Mahavira c) Buddha d) Tao
2. In Tamil region, ordinary ploughmen were known as: 1
a) Vellalar b) Adimai c) Uzhavar d) Karmakara
3. Kanishka was a: 1
a) Gupta ruler b) Kushana ruler ¢) Maurya ruler d) Pala ruler
4, Ravikirti was a: 1
a) Soldier b) Samanta ¢) King d) Court Poet
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5. Which is the smallest continent in the world?

a) Australia b) Europe c) North America d) Africa
6. In the east of India, there is the:

a) Indian Ocean b) Arabian Sea c) Pacific Ocean  d) Bay of Bengal
7. Who is charge of a police station?

a) DSP b) SHO/SPI c) SCO d) Constable
8. Who prepare budgets and spend the money according to them in Urban Administration?

a) Ward Councillors b) Ward boys c) Nurses d) Teachers
0. How many villages are there in India approximately?

a) One lakh b) Three lakhs c) Four lakhs d) Six lakhs
10. Where did Mohan go after being beaten up by Raghu?

a) Hospital b) Clinic c) Police Station d) None of these
11. All the states of India are divided into?

a) cities b) nagars C) grams d) districts
12. District collector is also known as

a) Tehsildar b) Zamindar c) Sarpanch d) Panchs
13. What was the early name of Gautam Buddha?

a) Sidhartha b) Ashoka c) Mahavira d) Parsvanatha
14. Where did Buddha decide to find his own path to realisation?

a) Gaziabad in UP b) Bodh Gaya in Bihar

c¢) Kurukshetra in Haryana d) None of these
15. Where did Buddha go to teach first time?

a) Ringas b) Sikar c) Sarnath d) All of these
16. Who is famous tirthankara of Jains?

a) Lord Krishna b) Lord Shiva c) Lord Mahavira d) Lord Mahesh
17. The blue colour is used for showing

a) mountains b) plants and trees c) water d) none of these
18. Assertion (A): India is a Vast country.

Reason (R): The Tropic of Cancer (23°30°N) divides the country into almost equal
parts.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) Ais true, but R is false.
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d) A is false, but R is true.

19. Assertion (A): There have been new reforms in the Hindu Succession Act.
Reason (R): According to Hindu Succession Amendment Act 2005, Daughters have
just as much right as sons to inherit the property of their father.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.
c) Alis true, but R is false.

d) Ais false, but R is true.

20. Assertion (A): There are different types of maps.

Reason (R): Maps showing natural features of the earth, such as mountains, plateaus,
plains, rivers, oceans, et cetera, are called political maps.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) Alis true, but R is false.
d) A is false, but R is true.
21, Match the following:
A B
(i) The Great Himalaya (@) South
(ii) Bay of Bengal (b) West
(iii) Arabian Sea (c) North
(iv) Indian Ocean (d) East
(a) i-a, ii-b, iii-c, iv-d
(b) i-c, ii-d, iii-b,  iv-a
(c) i-d, ii-a, iii-c,  iv-b
(d) i-c, ii-a, iii-b, iv-d

22. Where is the Bay of Bengal?

(@) In the east direction of India (b) In the West direction of India
(c) In the north direction of India (d) In the South direction of India

23. Which country shares land boundaries with 7 countries?

(@) China (b) Australia (c) India (d) Africa

24, Where does the Great Indian desert lie?

(@) In the eastern part of India (b) In the western part of India

Page 3 of 6




(c) In the northern part of India (d) In the southern part of India

25. What lies to the south of northern plains of India?

(a) Great Indian desert (b) Peninsular plateau

(c) Vindhyas (d) Western Ghats
26. Which gas is responsible for global warming?

(@) Oz (b) CO; (€) N2 (d) Hz
217. The Arctic Circle passes through

(@) Asia (b) Europe (c) North America (d) All of these
28. Which longest river flows through Africa?

(@) The Ganga (b) The Yamuna (c) The Nile (d)None of these
29. Where is more than 97% of water found on the earth?

(@) In rivers (b) In wells (c) In ocean (d) None of these
30. Why do humans not use the ocean water?

(a) Too sour (b) Too salty (c) Too sweet (d) All of these

Section - B
Answer the following Short Type Questions (5x3=15)
31. Describe the working conditions of the workers in factories.
32. Describe the life of the landless or agricultural labourers in rural areas.
33. (A) How is India a country of vast geographical expanse?
OR,

(B) Discuss the features of the Ajanta Painting.
34. Explain the Composition of the Atmosphere.
35. Describe various types of maps.

Answer the following Long Type Questions (4x5=20)
36. What do you know about Harshavardhana? Describe the main events of his career.
37. (A) Give the details of all the major continents.
OR,

(B) Write about any four major oceans of the world.
38. Explain the Junctions of the Ward Councillor and the Administrative staff.
39. (A) Give an account of ‘direction’ as a major component of a map with diagram.

OR,

(B) Discuss symbols as a major component of a map with diagram.

Answer the following Case Based Questions (2X5=10)
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40. Very often farmers need to borrow money to purchase basic things. Often they borrow
this money from moneylenders. If the seeds are not of good quality or pests attack their
crop there can be a major crop failure. The crops can also be ruined if the monsoon does
not bring enough rain. When this happens farmers sometimes are unable to pay back
their loans. And, for the family to survive, they may even have to borrow more money.
Soon the loan becomes so large that no matter what they earn, they are unable to repay.
This is when we can say they are caught in debt. In recent years this has become a
major cause of distress among farmers. In some areas this has also resulted in many
farmers committing suicide.
(i) What are the basic things that farmers need to buy? 1
(it) Who do the farmers borrow money from? 1
(iii) What are the probable reasons for a crop failure? 2
(iv) What has become a major cause of distress among farmers? 1
41. A map is a representation or a drawing of the earth’s surface or a part of it drawn on a
flat surface according to a scale. But it is impossible to flatten a round shape
completely. Maps showing natural features of the earth such as mountains, plateaus,
plains, rivers, oceans etc. are called physical or relief maps. Maps showing cities, towns
and villages, and different countries and states of the world with their boundaries are
called Political Maps. Some maps focus on specific information; such as road maps,
rainfall maps, maps showing distribution of forests, industries etc. are known as
thematic maps.
(i) What is a Map? 1
(i) What are some the natural features of earth shown on maps? 1
(iii) What is Political map? 1
(iv) What is Physical map? 1
(v) What is Thematic map? 1
Map Based Question (1X5=5)
42. On the outline map of India locate and label the following: 5

(@) Mathura

(b) Indian Ocean
(c) Kalinga

(d) Bay of Bengal
(e) Nepal
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General Instructions:

1. The Question Paper Consists of two sections A and B

2. Section A consists of 30 MCQ’s and each carries 1 Mark

3. Section B consist Question No. 31 to 35 are Short Answer Type questions and each
question carries 3 marks

4. Question No. 36 to 39 are Long Answer Type questions and each question carries 5
marks

5. Question No. 40 to 41 are Case based questions and each question carries 5 marks

6. Question No. 42 is Map based question and it carries 5 Marks

Section-A
I. Choose the correct option
1. Buddhism was found by [1]
A Mahavira B. Zoroaster
C. Ramkrishna Paramhansa. D. Gautam Buddha
2. Jainism was founded by [1]
A. Mahavira B. Buddha
C. Zoroaster D. Tao
3. The gateway to the south was [1]
A. Pataliputra B. Ujjain
C. Taxila D. Kashi

4. Name the only king in the history of the world who gave up conquest after winning a war [1]

A. Bindusara B. Ashoka

C. Chandragupta D. Bimbisara

5. Mathura was an important: [1]
A. Village B. Port

C. Religious centre D. Forested area

6. Who was the Grama bhojaka? [1]



A. Village Headmen B. Peasant

C. Family member D. Women

7. Prashasti means: [1]

A. In place of B. In praise of

C. To pull of D. To put on

8. was a village assembly found in areas where the landowners were not Brahmins.[1]

A. Nagaram B. Samiti

C. Sabha D. Ur

9. The Mahabharata is about a war fought between: [1]

A. Ravana and Rama B. Kans and Rama

C. Kauravas and Pandavas D. Hanuman and Ravana

10. Garbhagriha is a part of: [1]

A. Temple B. Church

C. Mosque D. Stupas

11. Who works at the lowest level? [1]

A. Gram Panchayat B. District Panchayat

C. Zila Panchayat D. Janpad Panchayat

12. What was the main purpose behind bringing Panchayati Raj system in India? [1]

A. To reduce election expenses B. Development of villages

C. To Prevent criminalization of politics D. Decentralisation of the political
power to the general peoples

13. District collector is also known as [1]

A. Superintendent B. Landowner

C. Zamindar D. District Magistrate

14. Which among the following is not the duty of Patwari? [1]

A. Updates land records B. Measures land

C. resolution of conflicts D. Organises collection of land
revenue

15. Which among the following is not the work of ward councillor? [1]

A. They spend money as per the budget B. They take decisions

C. They get the work implemented D. They impose taxes

16. Local bodies are under the control of [1]



A. Central government B. Zila Samiti

C. Zila Parishad D. State government
17. Why does Aruna'’s family borrow loan? [1]
A. To borrow milk equipments B. To borrow farming equipments
C. To borrow trading equipments D. To borrow fishing equipments
18. Who was Thulasi? [1]
A. Large money lender B. Lives in town
C. Works in Ramalingams field as a labourer D. Fish catcher
19. Which of the following occupations is not practised by the people on the streets? [1]
A. Vegetable vendor B. Cobbler
C. Barber D. Agriculture
20. Who is Bachchu Manjhi [1]
A. Ricksahaw puller B. Teacher
C. Scientist D. Dentist
21. Which of the followings is correctly matched [1]
Column A Column B

A Mt. Everest 1 8,848 metres

B Atmosphere 2 | 21 percent

C | Atlantic Ocean 3 | 1600 metres

D Oxygen 4 | 'S'shaped
A. Mt. Everest B. Atmosphere
C. Atlantic Ocean D. Oxygen
22. is the only continent which is populous and prosperous. [1]
A. South America B. Asia
C. Europe D. Africa
23. The domain of the earth consisting of solid rocks is called [1]
A. Atmosphere B. Hydrosphere
C. Lithosphere D. Mesosphere
24. Why Northern Hemisphere called the land Hemisphere? [1]
A. Water bodies are not used their even they lies B. Greater part of water bodies lies
C. People like living in land areas D. Greater part of landmasses lies

25. Amazon lies on which continents [1]




A. Asia
C. South America

26. A large mass of land is called
A. Ocean
C. Mountains

27. Where is the Bay of Bengal located?
A. In the south direction of India
C. In the west direction of India

28. The Palk Strait lies between the countries
A. Sri Lanka and Maldives
C. India and Maldives

29. The oldest mountain range in India is the
A. Aravali hills
C. Himalayas

30. How many states are there in India?
A. 12
C.28

Section-B

B. North America
D. Europe

B. Continents
D. River

[1]

[1]

B. In the north direction of India
D. In the northeastern direction of

India

B. India and Pakistan
D. India and Sri Lanka

B. Western Ghats
D. Eastern Ghats

D. 15

Short Answer Questions (5X3M)
Q31. Describe the ways in which the Buddha tried to spread his message to the people.
Q32. Describe the functions of the Gramabhojaka. Why do you think he was powerful?

Q33. What are the three work of Patwari?

Q34. How does the Municipal Corporation earn the money to do its work?

Q35. Why the Earth is called the ‘blue planet’?

Long Answer Questions (4X5M)

Q36. How does Samudragupta’s prashasti describe him?
Q37. Describe the contribution of Aryabhatta to Science.

Q38. What different activities are done by the people of Kalpattu village?
Q39. In what ways is a permanent and regular job different from a casual job?

Case Based Questions (2X5M)
Q40. The earth is surrounded by a layer of gas called the atmosphere. This thin blanket of air is
an integral and important aspect of the planet. It provides us with the air we breathe and protects

[1]

[1]

[1]

[3]
[3]
[3]
[3]
[3]

[5]
[5]
[5]
[5]



us from the harmful effects of sun’s rays. The atmosphere extends up to a height of about 1,600
kilometres. The atmosphere is divided into five layers based on composition, temperature and
other properties. These layers starting from earth’s surface are called the troposphere, the
stratosphere, the mesosphere, the thermosphere and the exosphere. The atmosphere is composed
mainly of nitrogen and oxygen, which make up about 99 per cent of clean, dry air. Nitrogen 78
per cent, oxygen 21 per cent and other gases like carbon dioxide, argon and others comprise 1
per cent by volume. Oxygen is the breath of life while nitrogen helps in the growth of living
organisms. Carbon dioxide, though present in minute amount, is important as it absorbs heat
radiated by the earth, thereby keeping the planet warm. It is also essential for the growth of

plants.

(i) What is atmosphere? [1]
(it) Name the five layers of atmosphere. [1]
(iii) What is the percentage of Nitrogen in the atmosphere? [1]
(iv) How Carbon dioxide is important? [2]

Q41. silk Route and the Kushanas

Some kings tried to control large portions of the route. This was because they could benefit from
taxes, tributes and gifts that were brought by traders travelling along the route. In return, they
often protected the traders who passed through their kingdoms from attacks by robbers. The best-
known of the rulers who controlled the Silk Route were the Kushanas, who ruled over central
Asia and north-west India around 2000 years ago. Their two major centres of power were
Peshawar and Mathura. Taxila was also included in their kingdom. During their rule, a branch of
the Silk Route extended from Central Asia down to the seaports at the mouth of the river Indus,
from where silk was shipped westwards to the Roman Empire.

(i) Why some kings tried to control the silk route? [1]

(i1) What did the traders get in return? [1]
(iii) Who were the best known rulers who controlled the Silk route? [1]
(iv) Name the two major centres of power. [2]
Q. 42.0n the given outline map of India locate and label the following: [1X5=5]

(a) Arabian Sea

(b) Gujarat

(c) Great Himalayas

(d) Sri Lanka

(e) Western Ghats and Eastern Ghats
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ATATATAGr / General Instructions:

1. The Question Paper contains four sections.

2. Section A has 30 questions. Attempt all the questions.

3. Section B has 5 questions. Attempt all the questions.

4. Section C has 6 questions. Attempt all the questions.

5. Section D contains 6 Map based questions. Attempt any 5 questions.

SECTION -A
( Multiple Choice Questions) (1x30=30)

Q1. Which one of the following continents lies on both sides of the equator?
(a) South America

(b) Australia

(c) Africa

(d) Europe

Q2. The continent of North America is linked to South America by
(a) Canal

(b) Mountain

(c) Sea

(d) Isthmus

Q3. Which of the following is NOT a continent?
(@) India

(b) Africa

(c) Europe

(d) Australia

Q4. The major constituent of atmosphere by percent is
(a) Oxygen

(b) Nitrogen

(c) Hydrogen

(d) Carbon

Q5. Which of the following state does not have common boundary with Pakistan?
(a) Punjab
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(b) Gujarat
(c) Haryana
(d) Rajasthan

Q6. Which of the following is not the sea / ocean which surrounds the Indian Peninsula?
(a) Pacific Ocean

(b) Indian Ocean

(c) Arabian sea

(d) Bay of Bengal

Q7. India is located in which continent?
(a) Europe

(b) Africa

(c) Asia

(d) Australia

Q8. Which mountain range separate Europe from Asia?
(a) The Himalayas

(b) The Andes

(c) The Urals

(d) The Alps

Q9. Where do the rivers Mahanadi, Godavari, Krishna and Kaveri drain?
(a) Western Ghats

(b) Lakshadweep

(c) Bay of Bengal

(d) None of these

Q10. Which hills are located in Rajasthan?
(a) Aravali hills

(b) Western Ghats

(c) Himalayas

(d) All of these

Q11. Prakrit word for Dharma is
(a) Dhamma

(b) Dhamara

(c) Dhaam

(d) Dhammar

Q12. Which of the following is not a Maurya ruler?
(a) Chandragupta

(b) Bindusara

(c) Ashoka

(d) Bimbisara
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Q13. Archaeologists have found rows of pots, or ceramic rings arranged one on top of the
other. These are known as

(a) Canals wells

(b) Tank wells

(c) Tube wells

(d) Ring wells

Q14. Blacksmith, potter, carpenter and weaver came under the category of
(a) Craftsmen

(b) Kings

(c) Farmers

(d) Headman

Q15. Buddha belonged to a small Gana known as the
(a) Thirteen gana

(b) Sakya gana

(c) Eleven

(d) Magadh gana

Q16. Where did Buddha teach for the first time?
(a) Ujjain

(b) Bodh Gaya

(c) Sarnath

(d) Kusinara

Q17. Who wrote the biography of Harshavardhana?
(a) Ravikirti

(b) Amir Khusro

(c) Banabhatta

(d) None of these

Q18. Who was the famous ruler of a dynasty known as Guptas?
(a) Chandragupta

(b) Samudragupta

(c) Ashoka

(d) Sidhartha

Q19.  aregrand, long compositions, about heroic men and women, and include stories
about gods.

(a) Vedas

(b) Books

(c) Inscriptions

(d) Epics
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Q20. Assertion(A): The two famous practitioners of Ayurveda in ancient India were
Charaka and Sushruta.

Reason(R): Ayurveda is a well known system of Health Science that was developed in
ancient India.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais true but R is false.

(d) A'is false but R is true

Q21. The sub-divisions of a district are known by different names suchas
(a) Tehsil

(b) Taluka

(c) Both (a) and (b)

(d) None of the above.

Q22. Kanungo is the other name of
(a) Tehsildar

(b) Patwari

(c) Talukdar

(d) Landowner

Q23. To whom did Mohan meet at the police station to complain about what had happened
with him?

(@) SHO

(b) HOS

(c) SI

(d) ASI

Q24. The municipalities are formed in while municipal corporations are formed
in :

(a) Block, big cities

(b) Small cities, Village cities

(c) Small cities, Big cities

(d) Big cities, Janapads

Q25. Which of the following is not the source of livelihood for the people in rural areas?
(@) Selling milk in nearby village

(b) Animal husbandry

(c) Fishing

(d) Selling goods in Malls

Q26. People of Chizami village do cultivation.
(@) Jhum
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(b) Terrace
(c) Slash
(d) Tree

Q27. A man engaged in making iron goods, tools, instruments etc. is called as
(a) Labour

(b) Potter

(c) Teacher

(d) Blacksmith

Q28. Nearly of all rural families are agricultural labourers.
(a) 3/4™
(b) 2/5™
(c) 2/3th
(d) /5™

Q29. Who does the work of measuring land and keeping land record?
(a) District collector

(b) Patwari

(c) Tehsildar

(d) S.H.O.

Q30. In our country main occupation of people is
(a) Servicing

(b) Manufacturing

(c) Agriculture

(d) Construction

SECTION-B (3x5=15)
Q31. Describe the functions of the grambhojka. Why do you think he was powerful?
OR

Describe the ways in which the Buddha tried to spread his message to the people.

Q32. State whether true or false:

(a) Harishena composed a prashasti in praise of Gautamiputra ShriSatakarni.
(b) The rulers of Aryavarta brought tribute for Samudragupta.

(c) There were twelve rulers in Dakshinapatha

Q33. Which two major rivers fall into the Arabian Sea? Name the delta formed by the Ganga
and the Brahmaputra.
Q34. What is the link between a Gram Sabha and a Gram Panchayat?
Q35. How does the Municipal Corporation earn the money to do its work?
OR

What benefits does Sudha get along with her salary?
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SECTION-C (5x6=30)
Q.36. Read the source given below and answer the questions that follow:
The skills of our crafts persons are also apparent in the buildings that have survived, such as
stupas. The word stupa means a mound. While there are several kinds of stupas, round and
tall, big and small, these have certain common features. Generally, there is a small box placed
at the centre or heart of the stupa. This may contain bodily remains (such as teeth, bone or
ashes) of the Buddha or his followers, or things they used, as well as precious stones, and
coins.
This box, known as a relic casket, was covered with earth. Later, a layer of mud brick or
baked brick was added on top. And then, the dome like structure was sometimes covered with
carved stone slabs.
Often, a path, known as the pradakshina patha, was laid around the stupa. This was
surrounded with railings. Entrance to the path was through gateways. Devotees walked
around the stupa, in a clockwise direction, as a mark of devotion. Both railings and gateways
were often decorated with sculpture. Many of the stone carvings for decorating the stupa
were made about 2000 years ago.

a) What do you mean by the word ‘Stupa’?

b) Why did devotees walk around the stupa in a clockwise direction?
c) What were decorated with sculpture?

d) What is placed at the centre of the stupa? What may it contain?

N R R

Q37. What were the main teachings of the Mahavira?
OR

What were the means adopted by Ashoka to spread the message of ‘dhamma’?

Q38. What are the four major domains of the earth? Why the earth is called the ‘blue planet’?
Q39. Name the six major physical divisions of India. Write more about any one physical
division of India.
Q40. In what ways is a permanent job different from a casual job? Discuss.
Q41. List five ways in which the work of the Municipal Corporation affects the life of a city-
dweller.

OR
What is the work of a Tehsildar? Write atleast 5 points.

Section D
(Attempt any 5 Map based questions out of 6 questions) (1x5=5)
Q42. On the outline map of India, mark the locations with the help of specified
information.

1) Bharuch i) Sarnath
iii) State in which you live iv) Andaman and Nicobar islands
v) Standard Meridian of India vi) National capital
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